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1. The equation of conic section whose focus is

at (-1 , 0), directrix is the  and4x − 3y + 2 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_J7rrUnlRr24t


eccentricity , is

A. 

B. 

C. 

D. none of these.

Answer: A

Watch Video Solution

1/√2

34x2 + 41y2 + 24xy + 84x + 12y + 46 = 0

34x2 + 41y2 − 24xy + 84x + 12y + 46 = 0

34x2 + 41y2 − 24xy − 84x − 12y + 46 = 0

https://dl.doubtnut.com/l/_J7rrUnlRr24t


2. The conic represented by the equation

 is

A. Pair of straight lines

B. Circle

C. Paraabola

D. Ellipse

Answer: C

Watch Video Solution

x2 + y2 − 2xy + 20x + 10 = 0,

https://dl.doubtnut.com/l/_J7rrUnlRr24t
https://dl.doubtnut.com/l/_y2uxY3UGEb3g
https://dl.doubtnut.com/l/_Siu4BXDlpqz5


3. The curve described parametrically by

, y =  represents :

A. a circle

B. a parabola

C. an ellipse

D. a pair of straight lines

Answer: B

Watch Video Solution

x = t2 + t + 1 t2 − t + 1

https://dl.doubtnut.com/l/_Siu4BXDlpqz5


4. The equation

represents

A. a circle

B. a parabola

C. an ellipse

D. a hyperbola

Answer: B

Watch Video Solution

16x2 + y2 + 8xy − 74x − 78y + 212 = 0

https://dl.doubtnut.com/l/_0t6eVXtiQekC
https://dl.doubtnut.com/l/_02MkzaqwKZFr


5. The centre of the conic

 is

A. (2, 3)

B. (-2, 3)

C. (3, 2)

D. none of these

Answer: A

Watch Video Solution

14x2 − 4xy + 11y2 − 44x − 58y + 71 = 0,

https://dl.doubtnut.com/l/_02MkzaqwKZFr


6. If the focus of a parabola is at (0,-3) and its

directrix is y = 3, then its equation is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 = − 12y

x2 = 12y

y2 = − 12x

y2 = 112x

https://dl.doubtnut.com/l/_kqBYSBP8b3SW


7. The equation of a parabola having focus (3, 0)

and directrix x + 3 = 0, is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 12x

y2 = − 12x

x2 = 12y

x2 = − 12y

https://dl.doubtnut.com/l/_LVEazqnwREU8


8. The equation of the directrix of the parabola

 is

A. 3x+4y=0

B. 3x+4y-1=0

C. 4x-3y=0

D. 3x+4y+1=0

Answer: B

Watch Video Solution

25{(x − 2)2 + (y + 5)2} = (3x + 4y − 1)2,

https://dl.doubtnut.com/l/_vVBrfi8DUnIc


9. The length of the latusrectum of the parabola

 is

A. 2a

B. 

C. 4a

D. 

Answer: B

Watch Video Solution

2{(x − a)2 + (y − a)2} = (x + y)2,

2√2a

√2a

https://dl.doubtnut.com/l/_KwBc89WGAMyi


10. The vertex of the parabola

 is at

A. (1, 1)

B. (-1, -1)

C. 

D. none of these

Answer: C

Watch Video Solution

x2 + y2 − 2xy − 4x − 4y + 4 = 0

( , )
1

2

1

2

https://dl.doubtnut.com/l/_xeRNOIbG8kpT


11. The vertex of a parabola is the point (a,b) and

latusrectum is of length . If the axis of the

parabola is along the positive direction of y-axis,

then its equation is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

l

(x + a)2 = (2y − 2b)
l

2

(x − a)2 = (2y − 2b)
l

2

(x + a)2 = (2y − 2b)
l

4

(x − a)2 = (2y − 2b)
l

8

https://dl.doubtnut.com/l/_2FXzvtiOBqe4


12. The equation of the parabola whose vertex

and focus lie on the axis of 
at distances 
and


 from the origin, respectively, is







A. 

B. 

C. 

D. none of these

x a

a1

y2 − 4(a1 − a)x y2 − 4(a1 − a)(x − a)

y2 − 4(a1 − a)(x − a)1) noneofthese

y2 = 4(a1 − a)x

y2 = 4(a1 − a)(x − a)

y2 = 4(a1 − a)(x − a1)

https://dl.doubtnut.com/l/_2FXzvtiOBqe4
https://dl.doubtnut.com/l/_IaFmsNbnUzy3


Answer: B

Watch Video Solution

13. If the parabola  passes through (3,

2). Then the length of its latusrectum, is

A. 

B. 

C. 

D. 

y2 = 4ax

2

3

4
3

1

3

4

https://dl.doubtnut.com/l/_IaFmsNbnUzy3
https://dl.doubtnut.com/l/_YLw3kKFaghd1


Answer: B

Watch Video Solution

14. The locus of the vertices of the family of

parabolas  is:

A. 

B. 

C. 

D. 

y = + − 2a
a3x2

3

a2x

2

xy =
105

64

xy =
3

4

xy =
35

16

xy =
64
105

https://dl.doubtnut.com/l/_YLw3kKFaghd1
https://dl.doubtnut.com/l/_Cb4AOtqeMGwV


Answer: A

Watch Video Solution

15. If  and the line 

passes through the points of intersection of the

parabola  and , then

A. 

B. 

C. 

D. 

a ≠ 0 2bx + 3cy + 4d = 0

y2 = 4ax x2 = 4ay

d2 + (2b − 3c)2 = 0

d2 + (3b + 2c)2 = 0

d2 + (3b − 2c)2 = 0

d2 + (3b + 2c)2 = 0

https://dl.doubtnut.com/l/_Cb4AOtqeMGwV
https://dl.doubtnut.com/l/_TfHaLQzFiT2g


Answer: D

Watch Video Solution

16. Let (x,y) be any point on the parabola

. Let P be the point that divides the line

segment from (0,0) and (x,y) n the ratio 1:3. Then

the locus of P is :

A. 

B. 

C. 

y2 = 4x

x2 = y

x2 = 2y

y2 = x

https://dl.doubtnut.com/l/_TfHaLQzFiT2g
https://dl.doubtnut.com/l/_yXSnLiEF3eyH


D. 

Answer: C

Watch Video Solution

x2 = 2y

17. Find the coordinates of any point on the

parabola whose focus is (0, 1)
 and directrix is

A. 

B. 

C. 

x + 2 = 0

(t2 + 1, 2t − 1)

(t2 + 1, 2t + 1)

(t2, 2t)

https://dl.doubtnut.com/l/_yXSnLiEF3eyH
https://dl.doubtnut.com/l/_5BwlDZu3IBc6


D. 

Answer: D

Watch Video Solution

(t2 − 1, 2t + 1)

18. The vertex of the parabola

 is

A. (-4, 1)

B. (4, -1)

C. (-4, -1)

x2 + 8x + 12y + 4 = 0

https://dl.doubtnut.com/l/_5BwlDZu3IBc6
https://dl.doubtnut.com/l/_zbiDTCdkVF2I


D. (4, 1)

Answer: A

Watch Video Solution

19. The focus of the parabola

 is,

A. (1, 1)

B. (1, 2)

C. (2, 1)

y2 − 4y − 8x + 4 = 0

https://dl.doubtnut.com/l/_zbiDTCdkVF2I
https://dl.doubtnut.com/l/_z3Sw3Vn83rFB


D. (2, 2)

Answer: D

Watch Video Solution

20. The axis of the parabola

 is

A. 

B. 

C. 

9y2 − 16x − 12y − 57 = 0

3y = 2

x + 3y = 3

2x = 3

https://dl.doubtnut.com/l/_z3Sw3Vn83rFB
https://dl.doubtnut.com/l/_3JIUDfIkbEdZ


D. 

Answer: A

Watch Video Solution

y = 3

21. the equation of the parabola whose focus is

the point  and the tangent at the vertix is 

 is

A. 

B. 

C. 

(0, 0)

x − y + 1 = 0

x2 + y2 − 2xy − 4x + 4y − 4 = 0

x2 + y2 − 2xy + 4x − 4y − 4 = 0

x2 + y2 + 2xy − 4x + 4y − 4 = 0

https://dl.doubtnut.com/l/_3JIUDfIkbEdZ
https://dl.doubtnut.com/l/_WNIWvWSyAunM


D. 

Answer: C

Watch Video Solution

x2 + y2 + 2xy − 4x − 4y + 4 = 0

22. The equation of the parabola with its vertex

at (1, 1) and focus at (3, 1) is

A. 

B. 

C. 

(x − 3)2 = 8(y − 1)

(y − 1)2 = 8(x − 1)

(y − 1)2 = 8(x − 3)

https://dl.doubtnut.com/l/_WNIWvWSyAunM
https://dl.doubtnut.com/l/_ZUlO7aTXBGdu


D. 

Answer: B

Watch Video Solution

(x − 1)2 = 8(y − 1)

23. The focus of the parabola

 is

A. 

B. 

C. 

y2 − x − 2y + 2 = 0

(1/4, 0)

(1/2)

(3/4, 1)

https://dl.doubtnut.com/l/_ZUlO7aTXBGdu
https://dl.doubtnut.com/l/_Zdtfk3ii0DQG


D. 

Answer: D

Watch Video Solution

(5/4, 1)

24. The directrix of the parabola

 is

A. 4

B. 6

C. 8

x2 − 4x − 8y + 12 = 0

https://dl.doubtnut.com/l/_Zdtfk3ii0DQG
https://dl.doubtnut.com/l/_ux9QgPOR34ff


D. 10

Answer: C

Watch Video Solution

25. The length of the latusretum of the parabola

, is

A. 

B. 

C. 

169∣∣(x − 1)2 + (y − 3)2∣∣ = (5x − 12y + 7)2

14
13

28

13

12

13

https://dl.doubtnut.com/l/_ux9QgPOR34ff
https://dl.doubtnut.com/l/_VWPKJJP85kDC


D. 

Answer: D

Watch Video Solution

48
13

26. If (0, 3) and (0, 2) are respectively the vertex

and focus of a parabola, then its equation, is

A. 

B. 

C. 

x2 + 8y = 12

y2 + 8x = 32

x2 − 8y = 32

https://dl.doubtnut.com/l/_VWPKJJP85kDC
https://dl.doubtnut.com/l/_ycV6h9u0pjbs


D. 

Answer: A

Watch Video Solution

y2 − 8x = 32

27. If V and S are respectively the vertex and

focus of the parabola 

then 
a. 2 b. 1/2 c. 1 d. none of these

A. 2

B. 43467

C. 1

y2 + 6y + 2x + 5 = 0,

SV =

https://dl.doubtnut.com/l/_ycV6h9u0pjbs
https://dl.doubtnut.com/l/_aAQ7AKLTSgGv


D. none of these

Answer: B

Watch Video Solution

28. The directrix of the parabola

 is

A. y=0

B. x=1

C. y= -1

x2 − 4x − 8y + 12 = 0

https://dl.doubtnut.com/l/_aAQ7AKLTSgGv
https://dl.doubtnut.com/l/_xAmTd70Z4qwK


D. x = -1

Answer: C

Watch Video Solution

29. The equation of the directrix of the parabola

whose vertex and focus are (1, 4) and (2, 6)

respectively, is

A. x+2y=4

B. x-y=3

C. 2x+y=5

https://dl.doubtnut.com/l/_xAmTd70Z4qwK
https://dl.doubtnut.com/l/_3T8ToxPCTsJC


D. x+3y=8

Answer: A

Watch Video Solution

30. A
 parabola has the origin as its focus and

the line 
 as the directrix. Then the vertex

of the
 parabola is at
 (1)
 (0, 2)
 (2) (1, 0)
 (3) (0, 1)

(4) (2, 0)

A. (0, 1)

B. (2, 0)

x = 2

https://dl.doubtnut.com/l/_3T8ToxPCTsJC
https://dl.doubtnut.com/l/_QAOWRWZwMEsD


C. (0, 2)

D. (1, 0)

Answer: D

Watch Video Solution

31. The length of the chord of the parabola

 passing through the vertex and

having slope (a>0)`:

A. 2 a cosec  cot 

B. 

x2 = 4ay

tanαis

α α

4a tanα secα

https://dl.doubtnut.com/l/_QAOWRWZwMEsD
https://dl.doubtnut.com/l/_PXMWqla7rSI0


C. 

D. 

Answer: A

Watch Video Solution

4a cosα cot α

4a sinα tanα

32. Write the length of het chord of the

parabola 
 which passes through the

vertex and in inclined to the axis at 
.

A. 

B. 

y2 = 4ax

π

4

4√2a

2√2a

https://dl.doubtnut.com/l/_PXMWqla7rSI0
https://dl.doubtnut.com/l/_a5wcvQfo9hOC


C. 

D. none of these

Answer: A

Watch Video Solution

√2a

33. Area of the triangle formed by the

threepoints  on  is 

 then 

A. 

B. 

' t1' . ' t2' and ' t3' y2 = 4ax

K|(t1 − t2)(t2 − t3)(t3 − t1)| K =

a|(t1 − t2)(t2 − t3)(t3 − t1)|

a2|(t1 − t2)(t2 − t3)(t3 − t1)|

https://dl.doubtnut.com/l/_a5wcvQfo9hOC
https://dl.doubtnut.com/l/_CjldrgNtJ87Z


C. 

D. 

Answer: B

Watch Video Solution

|(t1 − t2)(t2 − t3)(t3 − t1)|
a2

2

a2|(t1 − t2)(t2 − t3)(t3 − t1)|
1

4

34. The point 
 is an interior point of the

region bounded by the parabola 
 and

the double ordinate through the focus. then

find the values of 

A. 

(a, 2a)

y2 = 16x

a.

a ∈ ( − ∞, 4)

https://dl.doubtnut.com/l/_CjldrgNtJ87Z
https://dl.doubtnut.com/l/_K86VddfNqJFs


B. 

C. 

D. 

Answer: B

Watch Video Solution

a ∈ (0, 4)

a ∈ (0, 2)

a ∈ (4, ∞)

35. Find the set of values of  in the interval [

], for which the point ( )does

not exist outside the parabola 

A. 

α

, 3
π

2

π

2
sinα, cosα

2y2 + x − 2 = 0

[π/2, 5π/6]

https://dl.doubtnut.com/l/_K86VddfNqJFs
https://dl.doubtnut.com/l/_Mrnr8xUmNstP


B. 

C. 

D. 

Answer: C

Watch Video Solution

[π, 3π/2]

[π/2, 5π/6] ∪ [π, 3π/2]

[5π/6, 3π/2]

36. If  be a point interior to the

region of the parabola  bounded by the

chord joining the points ,

then the set of all possible real values of a is

(a2, a − 2)

y2 = 2x

(2, 2) and (8, − 4)

https://dl.doubtnut.com/l/_Mrnr8xUmNstP
https://dl.doubtnut.com/l/_heZX8QtMv768


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − 2, √2)

( − 3, 2)

( − 2, 2√2)

( − 2, − 2 + √2)

37. The number of integral values of a for which

the point (-2a,a+1) will be interior point of the

https://dl.doubtnut.com/l/_heZX8QtMv768
https://dl.doubtnut.com/l/_9XhVjeOyXPnf


smaller region bounded by the circle

 and the parabola  is:

A. (-1, 3/5)

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 = 4 y2 = 4x

( − 1, − 5 + 2√6)

( − 5 − 2√6, − 5 + 2√6)

https://dl.doubtnut.com/l/_9XhVjeOyXPnf


38. If the chord joining the points and  on

the parabola  subtends a right angle

at its vertex then 

A. 0

B. 1

C. -1

D. 2

Answer: B

Watch Video Solution

t1 t2

y2 = 4ax

t2 =

https://dl.doubtnut.com/l/_6YXvEjeN40t5
https://dl.doubtnut.com/l/_Kmi0YhTX6hc0


39. If 
 is at an end of a focal chord of

the parabola 
then find the other end

of the chord.

A. (32, 32)

B. (32, -32)

C. (-2, 8)

D. none of these

Answer: A

Watch Video Solution

(2, − 8)

y2 = 32x,

https://dl.doubtnut.com/l/_Kmi0YhTX6hc0
https://dl.doubtnut.com/l/_0tCDFuBChUYO


40. PQ is any focal of the parabola .

The length of PQ cam never be less then

A. 8 units

B. 16 units

C. 32 units

D. 48 units

Answer: C

Watch Video Solution

y2 = 32x

https://dl.doubtnut.com/l/_0tCDFuBChUYO


41. If a focal chord of 
 makes an angle 


with the positive direction of the x-

axis, then find the minimum length of
this focal

chord.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

α ∈ [0, ]
π

4

4a sec2 α

2acosec2α

4a  cosec2α

4a cot2 α

https://dl.doubtnut.com/l/_5ahrU6HMDZwO


42. If the length of a focal chord of the parabola


 at 
 distance 
 from the vertex is 

then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4ax a b c,

2a2 = bc

a3 = b2c

ac = b2

b2c = 4a3

https://dl.doubtnut.com/l/_5ahrU6HMDZwO
https://dl.doubtnut.com/l/_s6qqkjjs7j8A


43. If l denotes the semi-latusrectum of the

parabola  and SP and SQ denote the

segments of and focal chord PQ, being the

focusm the SP, I, SQ are in the relation

A. A.P.

B. G.P.

C. H.P.

D. 

Answer: C

y2 = 4ax,

l2 = SP 2 + SQ2

https://dl.doubtnut.com/l/_s6qqkjjs7j8A
https://dl.doubtnut.com/l/_SCR01ExfAxUw


Watch Video Solution

44. The latus rectum of a parabola whose focal

chord is PSQ such that SP = 3 and SQ = 2

A. 24/5

B. 43804

C. 43621

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_SCR01ExfAxUw
https://dl.doubtnut.com/l/_2EVFCQEJm1NU


45. The harmonic mean of the segments of a

focal chord of the parabola  is

A. 2a

B. 4a

C. 8a

D. 16a

Answer: C

Watch Video Solution

y2 = 16ax,

https://dl.doubtnut.com/l/_2EVFCQEJm1NU
https://dl.doubtnut.com/l/_UtVdfk44PrJQ
https://dl.doubtnut.com/l/_K8TeRGIl2bb1


46. If b and k are segments of a focal chord of

the parabola , then k =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 4ax

ab

b − a

b

b − a

a

b − a

ab

a − b

https://dl.doubtnut.com/l/_K8TeRGIl2bb1


47. If 
 is a focal chord of the parabola 


 such that 
 , then the length of 


is
6 (b) 4
(c) 3 (d)
none of these

A. 6

B. 4

C. 3

D. 8

Answer: C

Watch Video Solution

PSQ

y2 = 8x SP = 6

SQ

https://dl.doubtnut.com/l/_XycXtrrLVe61
https://dl.doubtnut.com/l/_N80hXxR8Ymwr


48. The locus of the midpoint of the segment

joining the focus to a moving
 point on the

parabola 
 is another parabola with

directrix
 
 (b) 
 
 (d) none of

these

A. 

B. 

C. 

D. 

Answer: C

y2 = 4ax

y = 0 x = − a x = 0

x = − a

x = −
a

2

x = 0

x =
a

2

https://dl.doubtnut.com/l/_N80hXxR8Ymwr


Watch Video Solution

49. let  be the point  and  be a point on

the locus . The locus of the midpoint of 

 is

A. 

B. 

C. 

D. 

Answer: D

P (1, 0) Q

y2 = 8x

PQ

x2 − 4y = 2 = 0

x2 + 4y + 2 − 0

y2 + 4x + 2 = 0

y2 − 4x + 2 = 0

https://dl.doubtnut.com/l/_N80hXxR8Ymwr
https://dl.doubtnut.com/l/_AJbspOVU7nyu


Watch Video Solution

50. Let O
 be the vertex and Q be any point on

the parabola, 
. It
the point P divides the

line segment OQ internally in the ratio 1 : 3, then

the locus of P is : (1) 
 (2)
 
 (3)


(4)


A. 

B. 

C. 

D. 

x2 = 8y

x2 = y y2 = x

y2 = 2x x2 = 2y

y2 = 2x

x2 = 2y

x2 = y

y2 = x

https://dl.doubtnut.com/l/_AJbspOVU7nyu
https://dl.doubtnut.com/l/_LNeP2FgOTzW6


Answer: B

Watch Video Solution

51. If the line y=mx+c touches the parabola

, then

A. 

B. 

C. 

D. none of these

y2 = 4a(x + a)

c = a +
a

m

c = am +
a

m

c = am + a

https://dl.doubtnut.com/l/_LNeP2FgOTzW6
https://dl.doubtnut.com/l/_MnlGMmyqlE9y


Answer: B

Watch Video Solution

52. If lx + my + n = 0 is tangent to the parabola

, them

A. 

B. 

C. 

D. 

x2 = y

t2 = 2mn

i = 4m2n2

m2 =
4
n

l2 = 4mn

https://dl.doubtnut.com/l/_MnlGMmyqlE9y
https://dl.doubtnut.com/l/_sBJV86esfRE4


Answer: D

Watch Video Solution

53. If the line x + y - 1 = 0 touches the parabola

 thn the value of k, is

A. 4

B. -4

C. 2

D. -2

y2 = kx,

https://dl.doubtnut.com/l/_sBJV86esfRE4
https://dl.doubtnut.com/l/_CCylJhxKuVRJ


Answer: B

Watch Video Solution

54. If the line 
 is tangent to the

parabola 
then find the value of 

A. 1

B. 2

C. 4

D. 3

y = mx + 1

y2 = 4x, m.

https://dl.doubtnut.com/l/_CCylJhxKuVRJ
https://dl.doubtnut.com/l/_PRCTzkJhAV8s


Answer: A

Watch Video Solution

55. Tangent to the curve  at a point 

 touches the circle 

at a point , then

the coordinates of  are

A. (6, 7)

B. (-6, 7)

C. (6, -7)

y = x2 + 6

(1, 7)

x2 + y2 + 16x + 12y + c = 0 Q

Q

https://dl.doubtnut.com/l/_PRCTzkJhAV8s
https://dl.doubtnut.com/l/_GwSruYoBOw9W


D. (-6, -7)

Answer: D

Watch Video Solution

56. Consider the two curves  ; ,  : 

 then :

A.  touch each other at one

point

C1 y2 = 4x C2

x2 + y2 − 6x + 1 = 0

C1  and C2

https://dl.doubtnut.com/l/_GwSruYoBOw9W
https://dl.doubtnut.com/l/_4VWOVKmD3Dm0


B.  touch eacth other exactly at

two point

C.  intersect ( but do not touch)

at exactly two points

D.  neither intersect not touch

each other

Answer: B

Watch Video Solution

C1  and C2

C1  and C2

C1  and C2

https://dl.doubtnut.com/l/_4VWOVKmD3Dm0


57. The tangent to the parabola  at 

 intersect on its

axis, them

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

P(at2
1, 2at1)  and Q(at2

2, 2at2)

t1 = t2

t1 = − t2

t1t2 = 2

t1t2 = − 1

https://dl.doubtnut.com/l/_dm3uPfyHKmjT
https://dl.doubtnut.com/l/_rXbxWwNEHshj


58. If  are two

points on the parabola at , then that

area of the triangle formed by the tangents at P

and Q and the chord PQ, is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

P(at2
1, 2at1) and Q(at2

2, 2at2)

y2 = 4ax

a2|t1 − t2|31

2

a2|t1 − t2|21

2

a2|t1 − t2|3

https://dl.doubtnut.com/l/_rXbxWwNEHshj


59. Let A, B, C be three points on the parabola

 such that tangents at these points

taken in pairs form a triangle PQR. Then, area

 : =

A. 

B. 

C. 

D. 

Answer: B

y2 = 4ax

(ΔABC) (ΔPQR)

1: 1

2: 1

1: 2

2: 3

https://dl.doubtnut.com/l/_rXbxWwNEHshj
https://dl.doubtnut.com/l/_PVYIE0feVBdu


Watch Video Solution

60. Consider the parabola  Let  be

the area of the triangle formed by the end

points of its latus rectum and the point P( ,2)

on the parabola and  be the area of the

triangle formed by drawing tangents at P and at

the end points of latus rectum.  is :

A. 1

B. 2

C. 3

y2 = 8x. Δ1

1

2

Δ2

Δ1

Δ2

https://dl.doubtnut.com/l/_PVYIE0feVBdu
https://dl.doubtnut.com/l/_yze3Cx03Dgmr


D. 4

Answer: B

Watch Video Solution

61. If the tangents at the points 
 on the

parabola 
meet at 
is its focus,

A. 

B. 

C. 

PandQ

y2 = 4ax T , andS

A. P .

G. P .

H. P .

https://dl.doubtnut.com/l/_yze3Cx03Dgmr
https://dl.doubtnut.com/l/_5TQLONGKF2pc


D. none of these

Answer: B

Watch Video Solution

62. If the distances of two points P and Q from

the focus of a parabola  are 4 and

9,respectively, then the distance of the point of

intersection of tangents at P and Q from the

focus is

A. 8

y2 = 4x

https://dl.doubtnut.com/l/_5TQLONGKF2pc
https://dl.doubtnut.com/l/_hvGXwm1qgQ7P


B. 6

C. 5

D. 13

Answer: B

Watch Video Solution

63. AB, AC are tangents to a parabola .

If  are the lengths of perpendiculars

from A, B, C on any tangent to the parabola,

then

y2 = 4ax

l1, l2, l3

https://dl.doubtnut.com/l/_hvGXwm1qgQ7P
https://dl.doubtnut.com/l/_jeNmqPsouiay


A.  are in GP

B.  are in GP

C.  are in GP

D.  are in GP

Answer: B::C

Watch Video Solution

l1, l2, l3

l2, l1, l3

l3, l1, l2

l3, l2, l1

64. The locus of the point of intersection of

tangents drawn at the extremities of a normal

chord to the parabola  is the curvey2 = 4ax

https://dl.doubtnut.com/l/_jeNmqPsouiay
https://dl.doubtnut.com/l/_Fdjv8OXCRT0X


A. tangent at the vertex

B. its derectrix

C. its latusrectum

D. a parabola

Answer: B

Watch Video Solution

65. If two tangents drawn from a point P to the

parabola y2 = 4x are at right
 angles, then the

https://dl.doubtnut.com/l/_Fdjv8OXCRT0X
https://dl.doubtnut.com/l/_T8TgQgFcE2mr


locus of P is
 (1) 
 (2) 
 (3) 


(4) 

A. x=-1

B. 2x-1=0

C. x=1

D. 2x+1=0

Answer: A

Watch Video Solution

2x + 1 = 0 x = 1

2x1 = 0 x = 1

https://dl.doubtnut.com/l/_T8TgQgFcE2mr


66. The tangents to the parabola 
 at

the vertex 
and any point 
meet at 
. If 
 is

the focus, then prove that 
 and 
 are

in GP.

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y2 = 4ax

V P Q S

SP
.
SQ, SV

A. P .

G. P .

H. P .

https://dl.doubtnut.com/l/_w4U6q44aMb4N


67. Parabola

 where 

 are variables, touch each other. Locus

of their point of contact is

A. straight line

B. Circle

C. Parabola

D. hyperbola

Answer: D

y2 = 4a(x − c1) and x2 = 4a(y − c2)

c1 and c2

https://dl.doubtnut.com/l/_w4U6q44aMb4N
https://dl.doubtnut.com/l/_Gvra9AgX7IwD


Watch Video Solution

68. The focal chord to  is tangent to

 then the possible values of

the slope of this chord

A. (-1, 1)

B. (-2, 2)

C. (-2, 1/2)

D. (2, -1/2)

Answer: A

y2 = 16x

(x − 6)2 + y2 = 2

https://dl.doubtnut.com/l/_Gvra9AgX7IwD
https://dl.doubtnut.com/l/_gyaO4YOe0QMi


Watch Video Solution

69. The circle 

intersects the parabola  orthogonally at

the point . The equation of the tangent to the

parabola at  can be

A. x-y-4=0

B. 2x+y-2=0

C. x+y-4=0

D. 2x-y+1=0

x2 + y2 − 2x − 6y + 2 = 0

y2 = 8x

P

P

https://dl.doubtnut.com/l/_gyaO4YOe0QMi
https://dl.doubtnut.com/l/_1B099daWnVXe


Answer: D

Watch Video Solution

70. Let PQ be a focal chord of the parabola

 The tangents to the parabola at P and

Q meet at a point lying on the line

. Length of chord PQ is

A. 7a

B. 5a

C. 2a

y2 = 4ax

y = 2x + a, a > 0

https://dl.doubtnut.com/l/_1B099daWnVXe
https://dl.doubtnut.com/l/_W6cJgI4HAIsS


D. 3a

Answer: B

Watch Video Solution

71. Mutually perpendicular tangents 

are drawn to 
 . Then find the minimum

length of 

A. a

B. 2a

C. 4a

TAandTB

y2 = 4ax

AB.

https://dl.doubtnut.com/l/_W6cJgI4HAIsS
https://dl.doubtnut.com/l/_s88PbHXrSHWv


D. 8a

Answer: C

Watch Video Solution

72. The
 equation of a tangent to the parabola


 . The point on this line

from which the
other tangent to the parabola is

perpendicular to the given tangent is
 (1)


(2) 
(3) 
(4) 

A. (2, 4)

y2 = 8xisy = x + 2

( − 1, 1) (0, 2) (2, 4) ( − 2, 0)

https://dl.doubtnut.com/l/_s88PbHXrSHWv
https://dl.doubtnut.com/l/_OGKQKedHIMnk


B. (-2, 0)

C. (-1, 1)

D. (0, 2)

Answer: B

Watch Video Solution

73. The triangle formed by the tangents to a

parabola  at the ends of the latus

rectum and the double ordinate through the

focus is

y2 = 4ax

https://dl.doubtnut.com/l/_OGKQKedHIMnk
https://dl.doubtnut.com/l/_qz5CBL60358J


A. equilateral

B. isosceles

C. right-angled isosceles

D. dependent on the velue of a for its

classification.

Answer: C

Watch Video Solution

74. The tangents at the end points of any chord

through  to the parabola (1, 0) y2 + 4x = 8

https://dl.doubtnut.com/l/_qz5CBL60358J
https://dl.doubtnut.com/l/_hxZUwTEzWZtb


intersect

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

at 45∘  on x − 3 = 0

at 45∘  on x + 3 = 0

at 90∘  on x + 3 = 0

at 90∘  on x − 3 = 0

75. The equation of the common tangent to the

parabolas  and  is given byy2 = 4ax x2 = 4by

https://dl.doubtnut.com/l/_hxZUwTEzWZtb
https://dl.doubtnut.com/l/_iT3KLZzlt9nF


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a1/3x + b1/3y = (ab)1/3

a1/3x + b1/3y = (ab)1/3 = 0

a2/3x + b2/3y = (ab)2/3

a2/3x + b2/3y = (ab)2/3 = 0

76. find the common tangents of the circle

 and the parabolax2 + y2 = 2a2 y2 = 8ax

https://dl.doubtnut.com/l/_iT3KLZzlt9nF
https://dl.doubtnut.com/l/_ZYJOGv0qWeHs


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = ± (y + 2a)

y = ± (y + 2a)

x = ± (y + a)

x = ± (x + a)

77. Two equal parabolas have the same vertex

and their axes are at right angles. The length of

the common tangent to them, is

https://dl.doubtnut.com/l/_ZYJOGv0qWeHs
https://dl.doubtnut.com/l/_ZtwcRWQFPCPm


A. 3a

B. 

C. 6a

D. 2a

Answer: B

Watch Video Solution

3√2a

78. The equations of the common tangents to

the parabola 

is/are :

y = x2 and y = − (x − 2)2

https://dl.doubtnut.com/l/_ZtwcRWQFPCPm
https://dl.doubtnut.com/l/_V9k2dMSua2Xf


A. y=0, y=4(x-1)

B. y=0, y=-4(x-1)

C. y=0, y=-30x-50

D. none of these

Answer: A

Watch Video Solution

79. The equation of the common tangents to the

circle  and the parabola 

 the x-axis, is

(x − 3)2 + y2 = 9

y2 = 4x

https://dl.doubtnut.com/l/_V9k2dMSua2Xf
https://dl.doubtnut.com/l/_MajtXoYKqd5S


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√3y = 3x + 1

√3y = − (x + 1)

√3y = (x + 1)

√3y = − (3x + 1)

80. The common tangent of the parabolas

 isy2 = 4x  and x2 = − 8y,

https://dl.doubtnut.com/l/_MajtXoYKqd5S
https://dl.doubtnut.com/l/_qupAxvttk8pX


A. y=x+2

B. y=x-2

C. y=2x+3

D. none of these

Answer: D

Watch Video Solution

81. Find the equation of the common tangent to

the curves  and xy=-1.y2 = 8x

https://dl.doubtnut.com/l/_qupAxvttk8pX
https://dl.doubtnut.com/l/_zAJ5Gz5KYmUw


A. 3y=9y+2

B. y=2x+1

C. 2y=x+8

D. y=x+2

Answer: D

Watch Video Solution

82. The equation to the line touching both the

parabolas  and  isy2 = 4x x2 = − 32y

https://dl.doubtnut.com/l/_zAJ5Gz5KYmUw
https://dl.doubtnut.com/l/_6XiQTm3HdQoq


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + 2y + 4 = 0

2x + y + 4 = 0

x − 2y − 4 = 0

x − 2y + 4 = 0

83. The slope of the line touching both the

parabolas  is (a) 

(b)  (c)  (d) 

y2 = 4x and x2 = − 32y
1

2
3

2

1

8

2

3

https://dl.doubtnut.com/l/_6XiQTm3HdQoq
https://dl.doubtnut.com/l/_ZY3gtY3Tv1eF


A. 43473

B. 43499

C. 43467

D. 43526

Answer: C

Watch Video Solution

84. If  be the slope of common tangent of

 and . Then  is

equal to

m

y = x2 − x + 1 y = x2– 3x + 1 m

https://dl.doubtnut.com/l/_ZY3gtY3Tv1eF
https://dl.doubtnut.com/l/_EoEcNJjUS11Y


A. 16

B. 7

C. 9

D. none of these

Answer: B

Watch Video Solution

85. If , then the angle of

intersection of the parabola

( ) + ( ) =
a

b

1
3 b

a

1
3 √3

2

https://dl.doubtnut.com/l/_EoEcNJjUS11Y
https://dl.doubtnut.com/l/_b6ZRYH8Re2oT


 at the point other

than the origin is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y2 = 4ax and x2 = 4by

√3

√
3

2

√3

2

https://dl.doubtnut.com/l/_b6ZRYH8Re2oT


86. The normals at the ends of the latusrectum

of the parabola

.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4ax  are (a, 2a) and (a, -2a)

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_5E31P4nQ7ysT
https://dl.doubtnut.com/l/_XHmeRJUK17N5


87. If the normals of the parabola 

drawn at the end points of its latus rectum are

tangents to the circle 

, then the value of  is

A. 4

B. 2

C. 6

D. 9

Answer: B

Watch Video Solution

y2 = 4x

(x − 3)2 + (y + 2)2 = r2

r2

https://dl.doubtnut.com/l/_XHmeRJUK17N5


88. Find the equation of the normal to the

parabola  which is parallel to 

A. y=2x+12

B. y=2x-12

C. y=2x+8

D. y=-2x+12

Answer: B

Watch Video Solution

y2 = 4x

y − 2x + 5 = 0

https://dl.doubtnut.com/l/_XHmeRJUK17N5
https://dl.doubtnut.com/l/_8dDVRtkvAxcR


89. The value of  for which the

line  is a

normal to the parabola  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ ∈ ( − , )
π

2

π

2

y = xcosθ + 4cos3θ − 14cosθ − 1

y2 = 16x,

π/3

π/6

π/9

π/4

https://dl.doubtnut.com/l/_8dDVRtkvAxcR
https://dl.doubtnut.com/l/_xrcWL7BTaHgM


90. The line  is a normal to the

parabola  if

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

lx + my + n = 0

y2 = 4ax

al(l2 + 2m2) + m2n = 0

al(l2 + 2m2) + m2n

al(2l2 + 2m2) + m2n = 0

al(2l2 + 2m2) + m2n

https://dl.doubtnut.com/l/_xrcWL7BTaHgM
https://dl.doubtnut.com/l/_wjcGQ0J3W28g
https://dl.doubtnut.com/l/_4AWRnhVFFBxc


91. The line  is a normal to the

parabola  is =

A. 12

B. -12

C. 24

D. -24

Answer: C

Watch Video Solution

2x + y + λ = 0

y2 = − 8x, λ

https://dl.doubtnut.com/l/_4AWRnhVFFBxc


92. The normal to the parabola  at P (1,

2) meets the parabola again in Q, then

coordinates of Q are

A. (-6, 9)

B. (9, -6)

C. (-9, -6)

D. (-6, -9)

Answer: B

Watch Video Solution

y2 = 4x

https://dl.doubtnut.com/l/_sLmfUSsvGKNF
https://dl.doubtnut.com/l/_Vnv4EAwngk6N


93. The normal at the point  on the

parabola  meets the parabola again in

the point  then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(bt2
1, 2bt1)

y2 = 4bx

(bt2
2, 2bt2, )

t2 = t1 +
2

t1

t2 = t1 −
2

t1

t2 = − t1 +
2

t1

t2 = t1 −
2

t1

https://dl.doubtnut.com/l/_Vnv4EAwngk6N
https://dl.doubtnut.com/l/_2uWPBrlcZlFR


94. A normal drawn at a point P on the parabola

 meets the curve again at Q. The least

distance of Q from the axis of the parabola, is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y2 = 4ax

2√2a

3√2a

4√a

https://dl.doubtnut.com/l/_2uWPBrlcZlFR
https://dl.doubtnut.com/l/_pWeNzOl1D1PZ


95. The area between the parabola  ,

normal at one end of latusrectum and X-axis in

sq.units is

A. 

B. less then 

C. more then

D. less then 

Answer: C

Watch Video Solution

y2 = 4x

60∘

60∘

60∘

45∘

https://dl.doubtnut.com/l/_pWeNzOl1D1PZ
https://dl.doubtnut.com/l/_R9eDcEFyApcN


96. If  and  are

three points on  and the normal at PQ

and R meet at a point, then the value of

A. 4a

B. 2a

C. a

D. 0

Answer: D

Watch Video Solution

P (x1, y1), Q(x2, y2) R(x3, y3)

y2 = 4ax

+ + =
x1 − x2

y3

x2 − x3

y1

x3 − x1

y2

https://dl.doubtnut.com/l/_R9eDcEFyApcN


97. If three distinct normals are drawn from

 to the parabola  such that one

of them is x-axis and other two are

perpendicular, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2k, 0) y2 = 4x

k =

k < 1

k > 1

k ≤ 1

k ≥ 1

https://dl.doubtnut.com/l/_t31JdEl1hlEM


Watch Video Solution

98. If three distinct normals are drawn from

 to the parabola  such that one

of them is x-axis and other two are

perpendicular, then 

A. 1

B. 

C. 

D. none of these

Answer: C

(2k, 0) y2 = 4x

k =

1

2

3

2

https://dl.doubtnut.com/l/_t31JdEl1hlEM
https://dl.doubtnut.com/l/_zhREIuEkBktU


Watch Video Solution

99. Find the point where the line 
 is a

normal to the parabola 

A. (18, -12)

B. (4, 2)

C. (2, 4)

D. (3, 3)

Answer: C

Watch Video Solution

x + y = 6

y2 = 8x

https://dl.doubtnut.com/l/_zhREIuEkBktU
https://dl.doubtnut.com/l/_Cf7VNhu2NzLh


100. Normals at P, Q, R are drawn to 

which intersect at (3, 0). Then, area of , is

A. 

B. 

C. 

D. 2

Answer: D

Watch Video Solution

y2 = 4x

ΔPQR

2/5

1/2

5/2

https://dl.doubtnut.com/l/_Cf7VNhu2NzLh
https://dl.doubtnut.com/l/_prcRVFoRe3Ub
https://dl.doubtnut.com/l/_4Bm2SDOL4YGr


101. Normals at P, Q, R are drawn to 

which intersect at (3, 0). Then, are of , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y2 = 4x

ΔPQR

(2/3, 0)

(2/5, 0)

(5/2, 0)

https://dl.doubtnut.com/l/_4Bm2SDOL4YGr


102. Normals at P, Q, R are drawn to 

which intersect at (3, 0). Then, are of , is

A. (2, 0)

B. (1, 0)

C. (2/3, 0)

D. (5/2, 0)

Answer: B

Watch Video Solution

y2 = 4x

ΔPQR

https://dl.doubtnut.com/l/_xknpIDYSQuyd


103. If the parabolas 
 and 


 have a common normal other

than the x-axis 
 being distinct positive

real numbers), then prove that 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

y2 = 4c(x − b)

(a, b, c

> 2.
b

a − c

0 < < 1
b

a − c

> 2
b

a − c

< 0
b

a − c

1 < < 2
b

a − c

https://dl.doubtnut.com/l/_kIusjXhxib4O


104. If from a point A, two tangents are drawn to

parabola  are normal to parabola 

, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

x2 = 4by

a2 ≥ b2

a2 ≥ 4b2

a2 ≥ 8b2

8a2 ≥ b2

https://dl.doubtnut.com/l/_kIusjXhxib4O
https://dl.doubtnut.com/l/_hJsBAaLbmB1R


105. Three normals drawn from a point (h k) to

parabola 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

h > a  and k2 > (h − 2a)24

27a

h > 2a  and k2 > (h − 2a)24

27a

h > 2a  and k2 < (h − 2a)24

27a

h > 2a

https://dl.doubtnut.com/l/_hJsBAaLbmB1R
https://dl.doubtnut.com/l/_wLyqgQ9epjng
https://dl.doubtnut.com/l/_DOiuRBdVpCCV


106. The set of points on the axis of the parabola


 from which the three normals to

the parabola are all real and different
 is


 (b) 


(d) none of these

A. 

B. 

C. 

D. none of these

Answer: D

W h Vid S l i

y2 = 4x + 8

{(k, 0)|k ≤ − 2} {(k, 0) ∣ k⟩ − 2}

{(0, k)|k ≻ 2}

{(x, 0) : x ≤ − 2)}

{(x, 0) : x > − 2)}

{(0, y) : y > − 2)}

https://dl.doubtnut.com/l/_DOiuRBdVpCCV


Watch Video Solution

107. Set of values of 'h' for which the number of

distinct common normals of

 and 

A. 

B. 

C. 

D. 

Answer: D

(x − 2)2 = 4(y − 3)

x2 + y2 − 2x − hy − c = 0(c > 0)  is 3, is

(2, ∞)

(4, ∞)

(2, 4)

(10, ∞)

https://dl.doubtnut.com/l/_DOiuRBdVpCCV
https://dl.doubtnut.com/l/_t0W8FAJB3ZCp


Watch Video Solution

108. The set of points on the axis of the parabola

, from which three distinct normals

can be drawn to theparabola , is

A. 

B. 

C. 

D. 

Answer: B

y2 = 4ax

y2 = 4ax

{(x, 0) : x > a}

{(x, 0) : x > 2a}

{(x, x > 4a}

{x : a < x < 2a}

https://dl.doubtnut.com/l/_t0W8FAJB3ZCp
https://dl.doubtnut.com/l/_rWDIa5AxmqWe


Watch Video Solution

109. A normal drawn at a point P on the

parabola  meets the curve again at Q.

The least distance of Q from the axis of the

parabola, is

A. 

B. 

C. 

D. none of these

y2 = 4ax

4√6a

2√6a

3√6a

https://dl.doubtnut.com/l/_rWDIa5AxmqWe
https://dl.doubtnut.com/l/_ugmAOWB4YYyd


Answer: A

Watch Video Solution

110. Find the number of distinct normals that

can be drawn from 
 to the parabola 

A. 1

B. 2

C. 3

D. 0

( − 2, 1)

y2 − 4x − 2y − 3 = 0

https://dl.doubtnut.com/l/_ugmAOWB4YYyd
https://dl.doubtnut.com/l/_4nDW1K76SaHa


Answer: A

Watch Video Solution

111. If the normal chord of the parabola 

makes an angle  with the axis of the

parabola, then its length, is

A. 8

B. 

C. 4

D. 

y2 = 4x

45∘

8√2

4√2

https://dl.doubtnut.com/l/_4nDW1K76SaHa
https://dl.doubtnut.com/l/_pzXdRrvzHSjw


Answer: B

Watch Video Solution

112. The slopes of tangents drawn from a point

 to parabola  are

A. 

B. 

C. 

D. none of these

(4, 10) y2 = 9x

1/4, 3/4

1/4, 9/4

1/4, 1/3

https://dl.doubtnut.com/l/_pzXdRrvzHSjw
https://dl.doubtnut.com/l/_LXAQ3k8unJlp


Answer: B

Watch Video Solution

113. The angle between the tangents drawn from

the point  to the parabola  is

A. 

B. 

C. 

D. 

(1, 4) y2 = 4x

π/6

π/4

π/3

π/2

https://dl.doubtnut.com/l/_LXAQ3k8unJlp
https://dl.doubtnut.com/l/_Ng75WgG5K62r


Answer: C

Watch Video Solution

114. Two tangent are drawn from the point


 to parabola 
 if 
 is the

angle between these tangents, then find the

value of 

A. 3

B. 43468

C. 2

( − 2, − 1) y2 = 4x. α

tanα.

https://dl.doubtnut.com/l/_Ng75WgG5K62r
https://dl.doubtnut.com/l/_a7Ar0KZ3Q8bX


D. 43467

Answer: A

Watch Video Solution

115. The locus of the point of intersection of the

tangents to the parabola  which

include an angle  is

A. 

B. 

C. 

y2 = 4ax

α

(x + a)2 tan2 α = y2 − 4ax

(x + a)tan2 α = y2 − 4ax

(x − a)2 tan2 α = y2 − 4ax

https://dl.doubtnut.com/l/_a7Ar0KZ3Q8bX
https://dl.doubtnut.com/l/_cftckslbk7NI


D. none of these

Answer: A

Watch Video Solution

116. The locus of the point of intersection of

tangents drawn at the extremities of a normal

chord to the parabola  is the curve

A. x=a

B. x=-a

C. y=a

y2 = 4ax

https://dl.doubtnut.com/l/_cftckslbk7NI
https://dl.doubtnut.com/l/_6BbNc3Czik0K


D. y=-a

Answer: B

Watch Video Solution

117. The locus of point of intersection of

tangents inclined at angle  to the parabola 

 is

A. 

B. 

C. 

45∘

y2 = 4x

y2 − 4ax = (a + x)2

y2 + 4ax = (a + x)2

y2 − 4ax = (a − x)2

https://dl.doubtnut.com/l/_6BbNc3Czik0K
https://dl.doubtnut.com/l/_ecV3V2jzz6gz


D. 

Answer: A

Watch Video Solution

y2 + 4ax = (a − x)2

118. The equation of the chord of contact of

tangents from (2, 5) to the parabola  is

A. 

B. 

C. 

y2 = 8x,

4x + 5y + 8 = 0

4x − 5y + 8 = 0

4x − 5y − 9 = 0

https://dl.doubtnut.com/l/_ecV3V2jzz6gz
https://dl.doubtnut.com/l/_Ba8OOzZz2Vh5


D. 

Answer: B

Watch Video Solution

4x + 5y − 8 = 0

119. Tangents are drawn to the parabola


 at the point where the line 


meets this parabola. Find the

point of intersection of these tangents.

A. 

B. 

y2 = 4ax

lx + my + n = 0

(n, /1, − 2am/1)

(l/n, − 2am/n)

https://dl.doubtnut.com/l/_Ba8OOzZz2Vh5
https://dl.doubtnut.com/l/_1uB0l4MQVg7L


C. 

D. none of these

Answer: A

Watch Video Solution

(n/m, − 2al/m)

120. The chords of contact of the pairs of

tangents drawn from each point on the line

 to the parabola  pass

through the point

A. 

2x + y = 4 y2 = − 4x

(2, − 1)

https://dl.doubtnut.com/l/_1uB0l4MQVg7L
https://dl.doubtnut.com/l/_wxes8nC9Hv5G


B. 

C. 

D. 

Answer: D

Watch Video Solution

(1/2, 1/4)

( − 1/2, − 1/4)

( − 2, 1)

121. Show that the length of the chord of

contact of the tangents drawn from  to

the parabola  is

(x1, y1)

y2 = 4ax

√(y2
1 − 4ax1)(y2

1 + 4a2)
1

a

https://dl.doubtnut.com/l/_wxes8nC9Hv5G
https://dl.doubtnut.com/l/_QVlW5BMxfURk


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

√(y2
1 − 4ax1)(y2

1 + 4a2)
1

a

√(y2
1 − 4ax1)(y2

1 + 4a2)

√(y2
1 + 4ax1)(y2

1 + 4a2)
1

a

122. Area of the triangle formed by the tangents

from  to the parabola  and its

chord of contact is 

(x1, y1) y2 = 4ax

=
(y2

1 − 4ax1)
3
2

2a

S11

3
2

2a

https://dl.doubtnut.com/l/_QVlW5BMxfURk
https://dl.doubtnut.com/l/_oZkazUj9FF13


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(y2
1 + 4ax1)

3/2

2a

(y2
1 − 4ax1)

3/2

2a

(y2
1 + 4ax1)

3/2

a

123. Equation of the chord of the parabola

 which is bisected at the point 

is

y2 = 8x (2, − 3)

https://dl.doubtnut.com/l/_oZkazUj9FF13
https://dl.doubtnut.com/l/_cCOEpqUXLaoT


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x + 3y + 1 = 0

2x + 3y + 5 = 0

3x + 4y + 6 = 0

2x − 3y − 12 = 0

124. if the line  meets the

parabola  then the mid point of the

chord is

4x + 3y + 1 = 0

y2 = 8x

https://dl.doubtnut.com/l/_cCOEpqUXLaoT
https://dl.doubtnut.com/l/_XMLtThdzn0pj


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(5/4, 3)

(2, 4)

(5/2, 14/3)

(5, 8)

125. The locus of the middle points of the chords

of the parabola  which pass through

the focus, is

y2 = 4ax

https://dl.doubtnut.com/l/_XMLtThdzn0pj
https://dl.doubtnut.com/l/_Bj54qL8BvEWc


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 + 2ax + 2a2 = 0

y2 − ax + 2a2 = 0

y2 − 2ax + 2a2 = 0

y2 − 2ax + a2 = 0

126. Find the locus of the middle points of the

chords of the parabola 
which subtend

a right angle at the vertex of the parabola.

y2 = 4ax

https://dl.doubtnut.com/l/_Bj54qL8BvEWc
https://dl.doubtnut.com/l/_T1Z8Y65Mqg2e


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 − 2ax + 2a2 = 0

y2 − 2ax + 8a2 = 0

y2 + 2ax − 8a2 = 0

y2 − 2ax − 8a2 = 0

127. If the tangent at the point 
 to the

parabola 
 meets the parabola 

P (2, 4)

y2 = 8x

https://dl.doubtnut.com/l/_T1Z8Y65Mqg2e
https://dl.doubtnut.com/l/_pGGFrlSvmLgn



at 
then find the midpoint

of chord 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y2 = 8x + 5 QandR,

QR.

(2, 4)

(4, 2)

(7, 9)

https://dl.doubtnut.com/l/_pGGFrlSvmLgn


128. The tangent at the point  to the

parabola  meets the parabola 

 at Q and R. the coordinates of

the mid-point of QR are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P (x1, y1)

y2 = 4ax

y2 = 4a(x + b)

(x1, y1)

(x1 + b, y1)

(x1 + b, y1 + b)

(x1 − b, y1 − b)

https://dl.doubtnut.com/l/_VDhfbLXkihZm


129. The locus of the mid-point of the chords of

the parabola  having slope m, is a

A. circle with center at origin and radius | 2

pm |

B. line parallel to x-axis at a distance | 2 pm |

from it

C. line parallel to y-axis a distance | 2 pm |

from it

x2 = 4py

https://dl.doubtnut.com/l/_VDhfbLXkihZm
https://dl.doubtnut.com/l/_3vn7JbqMhJdp


D. line parallel to y=mx,  at a distance |

2 pm | from it

Answer: C

Watch Video Solution

m ≠ 0

130. The polar of line point (2, 1) with respect to

the parabola  is

A. 

B. 

y2 = 6x,

y = 3x + 2

y = 3x + 6

https://dl.doubtnut.com/l/_3vn7JbqMhJdp
https://dl.doubtnut.com/l/_jXgqpW79QKXU


C. 

D. 

Answer: B

Watch Video Solution

3y = x + 6

y = 3x + 4

131. The pole of the line lx+my+n=0 with respect

to the parabola  is

A. 

B. 

y2 = 4ax,

( , − )
n

l

2am

l

( , − )
n

m

2am

m

https://dl.doubtnut.com/l/_jXgqpW79QKXU
https://dl.doubtnut.com/l/_98KZsT9zhKWP


C. 

D. none of these

Answer: A

Watch Video Solution

( , − )
n

m

2al
m

132. The locus of the poles of tangents to the

parabola  with respect to the parabola

 is

A. a circle

B. a parabola

y2 = 4ax

y2 = 4ax

https://dl.doubtnut.com/l/_98KZsT9zhKWP
https://dl.doubtnut.com/l/_wBsPfpzQD2aQ


Section I - Solved Mcqs

C. a straight line

D. an ellipse

Answer: B

Watch Video Solution

1. If the equation

 represent

a parabola then find .

λx2 + 4xy + y2 + λx + 3y + 2 = 0

λ

https://dl.doubtnut.com/l/_wBsPfpzQD2aQ
https://dl.doubtnut.com/l/_29FMGtPvPN0I


A. -4

B. 4

C. 0

D. none of these

Answer: C

Watch Video Solution

2. The equation

 represents

a

x2 + 4xy + 4y2 − 3x − 6y − 4 = 0

https://dl.doubtnut.com/l/_29FMGtPvPN0I
https://dl.doubtnut.com/l/_i4BZlfJYymNW


A. circle

B. parabola

C. a pair of straght lines

D. none of these

Answer: C

Watch Video Solution

3. The number of chords drawn from point (a, a)

on the circle , which are bisected

by the parabola , is

x2 + y2 = 2a2

y2 = 4ax

https://dl.doubtnut.com/l/_i4BZlfJYymNW
https://dl.doubtnut.com/l/_WZJ1NWz85V2z


A. 1

B. 4

C. 2

D. 0

Answer: C

Watch Video Solution

4. The length of the latusrectum of the parabola

 isx = ay2 + by + c,

https://dl.doubtnut.com/l/_WZJ1NWz85V2z
https://dl.doubtnut.com/l/_OcOnTQE9opVs


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a/4

a/3

1/a

1/(4a)

5. If the line 
 is the directrix of the

parabola 
 , then one of the

values of 
is
 
(b) 8 (c) 4
(d) 

x − 1 = 0

y2 − kx + 8 = 0

k
1

8

1

4

https://dl.doubtnut.com/l/_OcOnTQE9opVs
https://dl.doubtnut.com/l/_gEGLOeAlUk4Y


A. 

B. 8

C. 4

D. 43469

Answer: C

Watch Video Solution

1/8

6. The number of parabolas that can be drawn if

two ends of the latus
rectum are given
1 (b) 2
(c)

4
(d) 3

https://dl.doubtnut.com/l/_gEGLOeAlUk4Y
https://dl.doubtnut.com/l/_jKPE8TcLm1bJ


A. 1

B. 2

C. 0

D. infinite

Answer: B

Watch Video Solution

7. The number of points with integral

coordinates that lie in the interior of the region

https://dl.doubtnut.com/l/_jKPE8TcLm1bJ
https://dl.doubtnut.com/l/_nLDAlGTCdAsw


common to the circle  and the

parabola , is

A. 8

B. 10

C. 16

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 16

y2 = 4x

https://dl.doubtnut.com/l/_nLDAlGTCdAsw


8. Range of values of k for which the point (k,-1)

is exterior to both the parabolas  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y2 = |x|

a ∈ (0, 1)

a ∈ ( − 1, 1)

a ∈ ( − 1, 0)

https://dl.doubtnut.com/l/_0DvZBmfx4mFl


9. AB is a chord of the parabola  with

its vertex at A. BC is drawn perpendicular to AB

meeting the axis at C.The projecton of BC on the

axis of the parabola is

A. a

B. 2a

C. 4a

D. 8a

Answer: C

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_gAa2CfBDAiAm


10. The coordinates of an end-point of the

latusrectum of the parabola

 are

A. (0, -3)

B. (0, -1)

C. (0, 1)

D. (1, 3)

Answer: B

Watch Video Solution

(y − 1)2 = 4(x + 1),

https://dl.doubtnut.com/l/_gAa2CfBDAiAm
https://dl.doubtnut.com/l/_kBlNHC4Y7wGc


11. 
 is the foot of the perpendicular from a

point 
on a parabola 
 to its directrix

and 
 is an equilateral triangle, where S is

the focus. Then find 
.

A. a

B. 2a

C. 3a

D. 4a

Answer: D

M

P y2 = 4ax

SPM

SP

https://dl.doubtnut.com/l/_kBlNHC4Y7wGc
https://dl.doubtnut.com/l/_mwek3D79RZhY


Watch Video Solution

12. What is the equation of the parabola, whose

vertex and focus are on the x-axis at distance a

and b from the origin respectively ? 

A. 

B. 

C. 

D. none of these

Answer: A

W h Vid S l i

(b > a > 0)

y2 = 4(b − a)(x − a)

y2 = 4(b − b)(x − b)

y2 = 4(b − a)(x − a)

https://dl.doubtnut.com/l/_mwek3D79RZhY
https://dl.doubtnut.com/l/_oBhbh3HCUpuv


Watch Video Solution

13. If parabolas 
 and 


 are

equal, then the value of 
is
9 (b) 3
(c) 7 (d) 6

A. 1

B. 2

C. 4

D. 6

Answer: D

W t h Vid S l ti

y2 = λx

25[(x − 3)2 + (y + 2)2] = (3x − 4y − 2)2

λ

https://dl.doubtnut.com/l/_oBhbh3HCUpuv
https://dl.doubtnut.com/l/_2uUWewPOiMQU


Watch Video Solution

14. The point on  nearest to the focus

has to abscissa equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4ax

−a

a

a/2

0

https://dl.doubtnut.com/l/_2uUWewPOiMQU
https://dl.doubtnut.com/l/_DrB5UAOjngIN


15. The focal chord of the parabola 
 is 


 . Then find the equation of the

directrix.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = ax

2x − y − 8 = 0

x + 4 = 0

X − 4 = 0

Y − 4 = 0

Y + + 4 = 0

https://dl.doubtnut.com/l/_H1k6Xdb8EBCp
https://dl.doubtnut.com/l/_3P2OWwnTMMga


16. Number of common chords of a parabola & a

circle can be

A. 2

B. 4

C. 6

D. 8

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3P2OWwnTMMga


17. A ray of light moving parallel to the x-axis

gets reflected from parabolic mirror whose

equation is . After

reflection, the ray must pass through

A. (0, 3)

B. (3, 0)

C. (0, 0)

D. none of these

Answer: A

Watch Video Solution

(y − 3)2 = 8(x + 2)

https://dl.doubtnut.com/l/_TA0MijcJ55FA


18. If and 

 are two tangents to the

paraabola  then

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y + b = m1(x + a)

y + b = m2(x + a)

y2 = 4ax

m1 + m2 = 0

m1m2 = 1

m1m2 = − 1

https://dl.doubtnut.com/l/_TA0MijcJ55FA
https://dl.doubtnut.com/l/_kWp0QJoq8jOW


19. If normals at the ends of the double ordinate

x = 4 of parabola  meet the curve again

in P and P' respectively, then PP' =

A. 6

B. 12

C. 10

D. none of these

Answer: B

Watch Video Solution

y2 = 4x

https://dl.doubtnut.com/l/_kWp0QJoq8jOW
https://dl.doubtnut.com/l/_cMgUVaL4NSft


20. Radius of the largest circle which passes 13

through the focus of the parabola  and

contained in it, is

A. 8

B. 4

C. 2

D. 5

Answer: B

Watch Video Solution

y2 = 4x

https://dl.doubtnut.com/l/_cMgUVaL4NSft
https://dl.doubtnut.com/l/_nIgMleArVn6y


21. If the tangents and normals at the

extremities of a focal chord of a
 parabola

intersect at 
 and 
 respectively,

then
 
(b) 
 
(d) 

A. 

B. 

C. 

D. 

Answer: C

W t h Vid S l ti

(x1, y1) (x2, y2),

x1 = y2 x1 = y1 y1 = y2 x2 = y1

x1 = x2

x1 = y2

y1 = y2

x2 = y1

https://dl.doubtnut.com/l/_nIgMleArVn6y
https://dl.doubtnut.com/l/_Bs4n0wNtO5M0


Watch Video Solution

22. The axis of a parabola is along the line y = x

and its vertex and focus are in the first quadrant

at distances  respectively, from the

origin. The equation of the parabola, is

A. 

B. 

C. 

D. 

Answer: D

√2, 2√2

(x + y)2 = x − y − 2

(x − y)2 = x − y − 2

(x − y)2 = (x − y − 2)

(x − y)2 = 8(x + y − 2)

https://dl.doubtnut.com/l/_Bs4n0wNtO5M0
https://dl.doubtnut.com/l/_LOtx5dufjlsJ


Watch Video Solution

23. If the normals any point to the parabola

 cuts the line y = 2 in points whose

abscissar are in A.P., them the slopes of the

tangents at the 3 conormal points are in

A. AP

B. GP

C. HP

D. none of these

x2 = 4y

https://dl.doubtnut.com/l/_LOtx5dufjlsJ
https://dl.doubtnut.com/l/_WC6pnvdC4Xi8


Answer: B

Watch Video Solution

24. Let ABCD be a square of side length 2 units.

 is the fircle through the vertices A, B, C, D and

 is the circle touching all the of the square

ABCD. L is a lien through vertex A. A circle

touches the line L and the circle  externally

such that both the circles are on the same side

of the line L. The locus of the centre of the circle

is

C2

C1

C1

https://dl.doubtnut.com/l/_WC6pnvdC4Xi8
https://dl.doubtnut.com/l/_QNl7QSLJzi41


A. an ellipse

B. a hyperbola

C. a parabola

D. a pair of straight lines

Answer: C

Watch Video Solution

25. Minimum distance between

 and 

 is

y2 − 4x − 8y + 40 = 0

x2 − 8x − 4y + 40 = 0

https://dl.doubtnut.com/l/_QNl7QSLJzi41
https://dl.doubtnut.com/l/_oUSUoVp1VbJN


A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

√3

2√2

√2

26. ABCD is a square with side AB = 2. A point P

moves such that its distance from A equals its

distance from the line BD. The locus of P meets

https://dl.doubtnut.com/l/_oUSUoVp1VbJN
https://dl.doubtnut.com/l/_yfn2YtF6NvVI


the line AC at  and the line through A parallel

to BD at  and . The area of the triangle 

 is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

T1

T2 T3

T1T2T3

sq. unit
1

2

sq. unit
2

3

1sq. unit

2sq. unit

https://dl.doubtnut.com/l/_yfn2YtF6NvVI


27. Consider the circle  and the

parabola . They intersect at P and Q in

first and 4th quadrant,respectively. Tangents to

the circle at P and Q intersect the x-axis at R and

tangents at the parabola at P and Q intersect

the x-axis at S.

A. 

B. 

C. 

D. 

x2 + y2 = 9

y2 = 8x

1: √2

1: 2

1: 4

1: 8

https://dl.doubtnut.com/l/_1OoXy5cz0ofx


Answer: C

Watch Video Solution

28. If , the radius

of the circumcircle of  is

A. 5

B. 

C. 

D. 

P(1, 2√2), R(9, 0), S( − 1, 0)

ΔPRS,

3√3

3√2

2√3

https://dl.doubtnut.com/l/_1OoXy5cz0ofx
https://dl.doubtnut.com/l/_Lt6nSslUler6


Answer: B

Watch Video Solution

29. In exampla 27, the radius of the incircle of

, is

A. 4

B. 3

C. 43680

D. 2

ΔPQR

https://dl.doubtnut.com/l/_Lt6nSslUler6
https://dl.doubtnut.com/l/_6AZLG8lAK1Hy


Answer: D

View Text Solution

30. Circle described on the focal chord as

diameter touches the tangent at the vertex

A. the axis

B. the tangent at the vertex

C. the directrix

D. none of these

https://dl.doubtnut.com/l/_6AZLG8lAK1Hy
https://dl.doubtnut.com/l/_Oe95nCobomqP


Answer: B

Watch Video Solution

31. A normal chord of the parabola 

subtends a right angle at the vertex if its slope

is

A. 

B. 

C. 2

D. none of these

y2 = 4ax

1

√2

√2

https://dl.doubtnut.com/l/_Oe95nCobomqP
https://dl.doubtnut.com/l/_VpmRYvgs1Fzs


Answer: B

Watch Video Solution

32. If the circle 

touches the parabola , them

A. 

B. 

C. 

D. none of these

x2 + y2 + 2ax = 0, a ∈ R

y2 = 4x

a ∈ ( − ∞, 0)

a ∈ (0, ∞)

a ∈ (2, ∞)

https://dl.doubtnut.com/l/_VpmRYvgs1Fzs
https://dl.doubtnut.com/l/_HQqzRAilFzuX


Answer: B

Watch Video Solution

33. The area of the trapezium whose vertices lie

on the parabola  and its diagonals pass

through (1,0) and having length  units each

is

A. 

B. 

C. 

y2 = 4x

25

4

75
4

625

16

25

4

https://dl.doubtnut.com/l/_HQqzRAilFzuX
https://dl.doubtnut.com/l/_cIE6sGjif6R8


D. 

Answer: A

Watch Video Solution

25

8

34. If 
 is a point on the axis of the

parabola 


 from

where three distinct normals can be drawn, then

prove that 

A. 

(h, k)

2(x − 1)2 + 2(y − 1)2 = (x + y + 2)2

h > 2.

h > 2

https://dl.doubtnut.com/l/_cIE6sGjif6R8
https://dl.doubtnut.com/l/_bagT3id7jBIt


B. 

C. 

D. 

Answer: A

Watch Video Solution

h < 4

h > 8

h < 8

35. The radius of the circle whose centre is (-4,0)

and which cuts the parabola  at A and B

such that the common chord AB subtends a

y2 = 8x

https://dl.doubtnut.com/l/_bagT3id7jBIt
https://dl.doubtnut.com/l/_Pba8NMGRng4m


right angle at the vertex of the parabola is equal

to

A. 4

B. 3

C. 

D. 5

Answer: A

Watch Video Solution

√18

https://dl.doubtnut.com/l/_Pba8NMGRng4m


36. PSQ is a focal chord of a parabola whose

focus is S and vertex is A. PA, QA, are produced

to meet the directrix in R and T. Then  is

equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∠RST

90∘

60∘

45∘

30∘

https://dl.doubtnut.com/l/_tO1BSsrTZo5p


37. The tangent PT and the normal PN to the

parabola  at a point P on it meet its

axis at points T and N, respectively. The locus of

the centroid of the triangle PTN is a parabola

whose:

A. 

B. 

C. 

D. 

y2 = 4ax

vertex is (2a/3, 0)

Directri is x = 0

Latusrectum is 
2a

3

Focus is ( − a, 0)

https://dl.doubtnut.com/l/_tO1BSsrTZo5p
https://dl.doubtnut.com/l/_rBfVS5ix1hV5


Answer: A

Watch Video Solution

38. The vertex of the parabola  is at the

centre of a circle and the parabola cuts the

circle at the ends of itslatus rectum. Then the

equation of the circle is

A. 

B. 

C. 

y2 = 8x

x2 + y2 = 4

x2 + y2 = 20

x2 + y2 = 80

https://dl.doubtnut.com/l/_rBfVS5ix1hV5
https://dl.doubtnut.com/l/_acSO9Prm0HsR


D. none of these

Answer: B

Watch Video Solution

39. Let A, B and C be three points taken on the

parabola  with coordinates

 where 

are in A.P. If AA', BB' and CC' are focal chords and

coordinates of A', B' and C' are

 them 

are in

y2 = 4ax

(at2
i , 2ati), i = 1, 2, 3, t1, t2  and t3

(at'2
i , 2at'i ), i = 1, 2, 3, t'1 , t'2 and t'3

https://dl.doubtnut.com/l/_acSO9Prm0HsR
https://dl.doubtnut.com/l/_u0xfFfHvWhXD


A. AP

B. GP

C. HP

D. none of these

Answer: C

Watch Video Solution

40. Let there be two parabolas with the same

axis, focus of each being exterior to the other

and the latus rectam being 4a and 4b. The locus

https://dl.doubtnut.com/l/_u0xfFfHvWhXD
https://dl.doubtnut.com/l/_MKOLLspAeqjr


of the middle points of the intercepts between

the parabolas made on the lines parallel to the

common axis is a:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

straight line if a > b

parabola if a ∈ b

parabola for all a, b

ellipse, if b > a

https://dl.doubtnut.com/l/_MKOLLspAeqjr


41. Let A and B be two points on  such

that normals to the curve at A and B meet at

point C, on the curve, then chord AB will always

pass through a fixed point whose coordinates,

are

A. (2a, 0)

B. (-a, 0)

C. (-2a, 0)

D. (a, 0)

Answer: B

y2 = 4ax

https://dl.doubtnut.com/l/_2g5wDTwpKWyP


Watch Video Solution

42. The set of real values of 'a' for which at least

one tangent to  becomes normal to

the circle 

 is

A. 

B. 

C. 

D. none of these

y2 = 4ax

x2 + y2 − 2ax − 4ay + 3a2 = 0,

[1, 2]

[√2, 3]

R

https://dl.doubtnut.com/l/_2g5wDTwpKWyP
https://dl.doubtnut.com/l/_U7LenBp0UI1d


Answer: C

Watch Video Solution

43. The locus of the mid-point of the line

segment joining a point on the parabola

 and the point of contact of circle

drawn on focal distance of the point as diameter

with the tangent at the vertex, is

A. 

B. 

Y 2 = 4ax

y2 = 9ax

9y2 = 2ax

https://dl.doubtnut.com/l/_U7LenBp0UI1d
https://dl.doubtnut.com/l/_3kVNBPhnnihP


C. 

D. 

Answer: D

Watch Video Solution

2x2 = 9ay

2y2 = 9ax

44. The tangent and normal at the point p(18,

12) of the parabola  intersects the x-axis

at the point A and B respectively. The equation

of the circle through P, A and B is given by

A. 

y2 = 8x

x2 + y2 + 4x − 540 = 0

https://dl.doubtnut.com/l/_3kVNBPhnnihP
https://dl.doubtnut.com/l/_s5pQf87c5bMM


B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 6x − 360 = 0

x2 + y2 − 4x − 396 = 0

x2 + y2 − 2x − 444 = 0

45. Tangent and normal at any point P of the

parabola  meet the x-axis at T

and N respectively. If the lengths of sub-tangent

y2 = 4ax(a > 0)

https://dl.doubtnut.com/l/_s5pQf87c5bMM
https://dl.doubtnut.com/l/_dkJD4c6mfph9


and sub-normal at this point are equal, then the

area of  is given by

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

ΔPTN

4a2

6√2a2

4√2a2

https://dl.doubtnut.com/l/_dkJD4c6mfph9


46. The point of intersection of the curve whose

parametrix equations are

 is

given by

A. (1, -3)

B. (2, 2)

C. (-2, 4)

D. (1, 2)

Answer: B

Watch Video Solution

x = t2 + 1, y = 2t  and x = 2s, y = ,
2

s

https://dl.doubtnut.com/l/_F06APOMHEtBt


47. The locus of the midpoint of the segment

joining the focus to a moving
 point on the

parabola 
 is another parabola with

directrix
 
 (b) 
 
 (d) none of

these

A. x = -a

B. x = a

C. x = 0

D. x = a/2

y2 = 4ax

y = 0 x = − a x = 0

https://dl.doubtnut.com/l/_F06APOMHEtBt
https://dl.doubtnut.com/l/_mAKfoPf1AIec


Answer: C

Watch Video Solution

48. The radical centre of the circles drawn on the

focal chords of  as diameters, is

A. (-a, 0)

B. (a, 0)

C. (0, 0)

D. (a, a)

y2 = 4ax

https://dl.doubtnut.com/l/_mAKfoPf1AIec
https://dl.doubtnut.com/l/_5r8X32A3ueKw


Answer: C

Watch Video Solution

49. For each parabola , meeting

coordinate axes at 3-distinct points, if circles are

drawn through these points, then the family of

circles must pass through

A. (1, 0)

B. (0, 1)

C. (1, 1)

y = x2 + px + q

https://dl.doubtnut.com/l/_5r8X32A3ueKw
https://dl.doubtnut.com/l/_aGBvGXHaWPQC


D. (p, q)

Answer: B

Watch Video Solution

50. Let  be two points

on the parabola . If the circle with

chord AB as a diameter touches the parabola,

then 

A. 4a

B. 8a

A(x1, y1)  and B(x2, y2)

y2 = 4ax

|y1 − y2| =

https://dl.doubtnut.com/l/_aGBvGXHaWPQC
https://dl.doubtnut.com/l/_xyVNYTtF3Bzg


C. 

D. none of these

Answer: B

Watch Video Solution

6√2a

51. Let  be two distinct points on the

parabola . If the axis of the parabola

touches a circle of radius  having  as its

diameter, then the slope of the line joining

 can be

A and B

y2 = 4x

r AB

A and B

https://dl.doubtnut.com/l/_xyVNYTtF3Bzg
https://dl.doubtnut.com/l/_yZEOT6Vby3cz


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

±
1

r

±
2

r

±
3

r

± r
1

2

52. Find the shortest distance between the line

 and the curve x − y + 1 = 0 y2 = x.

https://dl.doubtnut.com/l/_yZEOT6Vby3cz
https://dl.doubtnut.com/l/_G9WJS9udHuK0


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√3

4

3√2

8

8

3√2

4

√3

53. Let S be the focus of the parabola 

and let PQ be the common chord of the circle

y2 = 8x

https://dl.doubtnut.com/l/_G9WJS9udHuK0
https://dl.doubtnut.com/l/_rLzk9J4W00dY


 and the given parabola.

The area of the triangle PQS is -

A. 4

B. 3

C. 2

D. 8

Answer: A

Watch Video Solution

x2 + y2 − 2x − 4y = 0

https://dl.doubtnut.com/l/_rLzk9J4W00dY


54. Let PQ be a focal chord of the parabola

 such that tangents at P and Q meet at

point on the line  If PQ

subtends an angle  at the vertex of ,

then tan 

A. 

B. 

C. 

D. 

Answer: D

y2 = 4ax

y = 2x + a, a > 0,

θ y2 = 4ax

θ =

2√7
3

−
2√7

3

2√3

3

−
2√5

3

https://dl.doubtnut.com/l/_hz5bc2WLOrUX


Watch Video Solution

55. Let a, r, s, t be non-zero real numbers. Let

be distinct points onthe parabola .

Suppose that PQ is the focal chord and lines QR

and PK are parallel, where K isthe point (2a, 0).

The value of r is

A. 

B. 

C. 

P(at2, 2at), Q, R(ar2, 2ar) and S(as2, 2as)

y2 = 4ax

−
1

t

t2 + 1
t

1

t

https://dl.doubtnut.com/l/_hz5bc2WLOrUX
https://dl.doubtnut.com/l/_D3spDVfv0gEW


D. 

Answer: D

Watch Video Solution

t2 − 1
t

56. Let a, r, s, t be non-zero real numbers. Let

 be

distinct points on the parabola .

Suppose that PQ is the focal chord and lines QR

and PK are parallel, where K the point (2a,0). 

If st=1, then the tangent at P and the normal at S

P(at2, 2at), Q(ar2, 2ar) and S(as2, 2as)

y2 = 4ax

https://dl.doubtnut.com/l/_D3spDVfv0gEW
https://dl.doubtnut.com/l/_FbP6aC6dbMWe


to the parabola meet at a point whose ordinate

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(t + 1)
2

2t3

a(t + 1)2

2t3

a(t2 + 1)
2

t3

a(t2 + 2)
2

t3

https://dl.doubtnut.com/l/_FbP6aC6dbMWe


57. Let P and Q be distinct points on the

parabola  such that a circle with PQ as

diameter passes through the vertex O of the

parabola. If P lies in the first quadrant and the

area of the triangle  is  , then which of

the following is (are) the coordinates of 

A. 

B. 

C. 

D. 

y2 = 2x

ΔOPQ 32

P ?

(4, 2√2)

(9, 3√2)

(1/4, 1/√2)

(1, √2)

https://dl.doubtnut.com/l/_nM6IQkQFqO2f


Answer: A::D

Watch Video Solution

58. Let the curve C be the mirror image of the

parabola  with respect to the line 

. If A and B are the points of

intersection of C with the line , then

the distance between A and B is

A. 3

B. 6

y2 = 4x

x + y + 4 = 0

y = − 5

https://dl.doubtnut.com/l/_nM6IQkQFqO2f
https://dl.doubtnut.com/l/_Bb9jhSC5BWiG


C. 8

D. 4

Answer: D

Watch Video Solution

59. PSQ is a focal chord of a parabola whose

focus is S and vertex is A. PA, QA, are produced

to meet the dirrecterix in R and T. Then  is

equal to

A. 

∠RST

90∘

https://dl.doubtnut.com/l/_Bb9jhSC5BWiG
https://dl.doubtnut.com/l/_I83rNVXO9WDv


B. 

C. 

D. 

Answer: A

Watch Video Solution

60∘

45∘

30∘

60. Let P be the point on parabola 

which is at the shortest distance from the

center S of the circle

 let Q be the

y2 = 4x

x2 + y2 − 4x − 16y + 64 = 0

https://dl.doubtnut.com/l/_I83rNVXO9WDv
https://dl.doubtnut.com/l/_ODuTRitFGIsb


point on the circle dividing the line segment SP

internally. Then

A. 

B. 

C. the x-intercept of the normal to the

parabola at P is 6

D. the slope of the tangent to the circle at Q

is 1/2

Answer: B

Watch Video Solution

SP = 2√5

SP :QP = √5 + 1) : 2

https://dl.doubtnut.com/l/_ODuTRitFGIsb


61. Let P be the
 point on the parabola, 

which is at a minimum distance
from the centre

C of the
 circle, 
 Then the

equation of the circle, passing through C and

having its centre at P is :
 (1)


 (2) 


 (3) 


 (4) 

A. 

B. 

y2 = 8x

x2 + (y + 6)2 = 1.

x2 + y2 − 4x + 8y + 12 = 0

x2 + y2 − x + 4y − 12 = 0

x2 + y2 − + 2y − 24 = 0
x

4

x2 + y2 − 4x + 9y + 18 = 0

x2 + y2 − x + 4y − 12 = 0

x2 + y2 = x + 2y − 24 = 0
1

4

https://dl.doubtnut.com/l/_ODuTRitFGIsb
https://dl.doubtnut.com/l/_jV0YEDxE4mUF


C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 4x + 9y + 12 = 0

x2 + y2 − 4x + 8y + 12 = 0

62.  and  are two distinct points on the

parabola,  with parameters  and 

respectively. If the normal at  passes through 

, then the minimum value of  is

A. 4

P Q

y2 = 4x t t1

P

Q t2
1

https://dl.doubtnut.com/l/_jV0YEDxE4mUF
https://dl.doubtnut.com/l/_xrj6QWeENkKE


B. 6

C. 8

D. 2

Answer: C

Watch Video Solution

63. Let PQ be a focal chord of the parabola

. If the centre of a circle having  as

its diameter lies on the line , then

length of the chord , is

y2 = 4x PQ

√5y + 4 = 0

PQ

https://dl.doubtnut.com/l/_xrj6QWeENkKE
https://dl.doubtnut.com/l/_PxUUBoJHR5Kw


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

36

5

26

5

36√5

5

26√5

5

64. The centres of those circles which touch the

circle, 
 , externally

and also touch the
x-axis, lie
on :
 (1) a circle.
 (2)

x2 + y2 − 8x − 8y − 4 = 0

https://dl.doubtnut.com/l/_PxUUBoJHR5Kw
https://dl.doubtnut.com/l/_0SXSGyRewSgI


an ellipse which is not a
 circle.
 (3) a hyperbola.

(4) a parabola.

A. an ellipe which is not a circle

B. a hyperbola

C. a parabola

D. a circle

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0SXSGyRewSgI


65. The radius of a circle, having minimum area,

which touches the curve and the

lines y=|x|, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = 4 − x2

2(√2 + 2)

2(√2 − 1)

4(√2 − 1)

4(√2 + 1)

https://dl.doubtnut.com/l/_enoJfT5FUKkx
https://dl.doubtnut.com/l/_jD8pQnYXgiX5


66. If a chord which is not a tangent, of the

parabola  has the equation 2x+y=p,

and mid-point (h, k), then which of the following

is (are) possible value (s) of p, h and k?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 16x

p = 5, h = 4, k = − 3

p = − 1, h = 1, k = − 3

p = − 2, h = 2, k = − 4

p = 2, h = 3, k = − 4

https://dl.doubtnut.com/l/_jD8pQnYXgiX5


SECTION-I (SOLVED MCQs EXAMPLE)

1. Three points A, B and C are considered on a

parabola. The tangents to the parabola at these

points from a triangle MNP (NP being tangent at

A, PM at B and MN at C). If the line through B

and parallel to axis of parabola intersects AC at

L. then the quadrilateral LMNP 

A. is always a parallelogram

https://dl.doubtnut.com/l/_jD8pQnYXgiX5
https://dl.doubtnut.com/l/_JNj6NtDplim3


Section II - Assertion Reason Type

B. can never be parallelogram

C. is parallelogram only when ordinates of A,

B, C are in A.P.

D. has exactly sides parallel to each always.

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_JNj6NtDplim3


1. Statement I The curve  is

symmetric with respect to the line .

because
 Statement II A parabola is symmetric

about its axis.

A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation

for Statement-1

y = + x + 1
x2

2

x = 1

https://dl.doubtnut.com/l/_vYmkQVfckuuJ


C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is True, Statement - 2 is True.

Answer: A

Watch Video Solution

2. Statement-1: The tangents at the extrenities

of a forcal of the parabola  intersect

on the line x + a = 0. 

Statement-2: The locus of the point of

intersection of perpendicular tangents to the

parabola is its directrix

y2 = 4ax

https://dl.doubtnut.com/l/_vYmkQVfckuuJ
https://dl.doubtnut.com/l/_Ntml8rjYNaRt


A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation

for Statement-2

C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is True, Statement - 2 is True.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ntml8rjYNaRt


3. Consider the two curves


 . Then



 and 
 touch each other only at one
 point



and 
touch each other exactly at two
point


 and 
 interesect (but do not touch) at

exactly two points.
 
 and 
 neither intersect

nor touch each
other.

A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

C1 : y2 = 4x, C2 : x2 + y2 − 6x + 1 = 0

C1 C2

C1 C2

C1 C2

C1 C2

https://dl.doubtnut.com/l/_Ntml8rjYNaRt
https://dl.doubtnut.com/l/_0FStBJt9qV0E


B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation

for Statement-3

C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is True, Statement - 2 is True.

Answer: B

Watch Video Solution

4. Statement-1: Three normals can be drawn to

the parabola  through the point (a,y2 = 4ax

https://dl.doubtnut.com/l/_0FStBJt9qV0E
https://dl.doubtnut.com/l/_BJs6CGtZzS1T


a+1), if . 


Statement-2: The point (a, a+1) lies outside the

parabola  for all .

A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation

for Statement-4

C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is False, Statement - 2 is True.

a < 2

y2 = 4x a ≠ 1 −

https://dl.doubtnut.com/l/_BJs6CGtZzS1T


Answer: D

Watch Video Solution

5. Statement-1: Length of the common chord of

the parabola  and the circle 

is less than the length of the latusrectum of the

parabola. 

Statement-2: If vertex of a parabola lies at the

point (a. 0) and the directrix is x + a = 0, then the

focus of the parabola is at the point (2a, 0).

y2 = 8x x2 + y2 = 9

https://dl.doubtnut.com/l/_BJs6CGtZzS1T
https://dl.doubtnut.com/l/_izbH3LzRXaRQ


A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation

for Statement-5

C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is True, Statement - 2 is True.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_izbH3LzRXaRQ


6. Statement-1:  and 

 are perpendicular tangents

to the parabola . 


Statement-2: The locus of the point of

intersection of perpendicular tangents to a

parabola is its directrix.

A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

y + b = m1(x + a)

y + b = m2(x + a)

y2 = 4ax

https://dl.doubtnut.com/l/_izbH3LzRXaRQ
https://dl.doubtnut.com/l/_zdv1wAOpmHqG


B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation

for Statement-6

C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is True, Statement - 2 is True.

Answer: A

Watch Video Solution

7. Given : A circle, 
and a parabola,


 .
 Statement - I : An equation of a

2x2 + 2y2 = 5

y2 = 4√5x

https://dl.doubtnut.com/l/_zdv1wAOpmHqG
https://dl.doubtnut.com/l/_GSb7RqcU1YuZ


common tangent to these
 curves is 

Statement - II : If the line,


 is their
 common

tangent, then m satisfies 

(1)
 Statement - I is True; Statement -II is true;

Statement-II is not a correct explanation for

Statement-I
(2)
Statement -I is True; Statement -II

is False.
(3)
 Statement -I is False; Statement -II is

True
 (4)
 Statement -I is True; Statement -II is

True; Statement-II is a correct explanation for

Statement-I

y = x+√5

y = mx + (m ≠ 0)
√5

m

m4 − 3m2 + 2 = 0.

https://dl.doubtnut.com/l/_GSb7RqcU1YuZ


A. Statement-1 is True, Statement - 2 is true,

Statement-2 is a correct explanation for

Statement-1`

B. Statement-1 is True, Statement - 2 is true,

Statement-2 is not a correct explanation

for Statement-7

C. Statement-1 is True, Statement - 2 is False.

D. Statement-1 is True, Statement - 2 is True.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GSb7RqcU1YuZ


Exercise

1. If the focus and vertex of a parabola are the

points (0, 2) and (0, 4),
respectively, then find the

equation

A. 

B. 

C. 

D. 

y2 = 8x + 32

y2 = − 8x + 32

x2 + 8x = 32

x2 − 8y = 32

https://dl.doubtnut.com/l/_GSb7RqcU1YuZ
https://dl.doubtnut.com/l/_GihtWWqPf8MH


Answer: C

Watch Video Solution

2. Find the equation of the directrix of the

parabola 

A. 

B. 

C. 

D. 

x2 − 4x − 3y + 10 = 0

y = −
5

4

y =
5

4

y = −
3

4

x =
5

4

https://dl.doubtnut.com/l/_GihtWWqPf8MH
https://dl.doubtnut.com/l/_Q941e2VIuq2Z


Answer: B

Watch Video Solution

3. If the vertex of a parabola is the point


and the directrix is the line 
 ,

then find its equation.

A. 

B. 

C. 

D. 

( − 3, 0) x + 5 = 0

y2 = 8(x + 3)

x2 = 8(x + 3)

y2 = − 8(x + 3)

y2 = 8(x + 5)

https://dl.doubtnut.com/l/_Q941e2VIuq2Z
https://dl.doubtnut.com/l/_PFDAyoxGjOVJ


Answer: A

Watch Video Solution

4. Find the angle made by a double ordinate of

length 
 at the vertex of the parabola

A. 

B. 

C. 

D. 

8a

y2 = 4ax.

π/3

π/2

π/4

π/6

https://dl.doubtnut.com/l/_PFDAyoxGjOVJ
https://dl.doubtnut.com/l/_ws35znFOyxZI


Answer: B

Watch Video Solution

5. Find the coordinates of points on the

parabola 
whose focal distance is 

A. 

B. 

C. 

D. none of these

y2 = 8x 4.

(1/2, ± 2)

(1, ± 2√2)

(2, ± 4)

https://dl.doubtnut.com/l/_ws35znFOyxZI
https://dl.doubtnut.com/l/_zTVFd6Qhs4Ie


Answer: C

Watch Video Solution

6. An equilateral triangle is inscribed in the

parabola 
 whose vertex is at of the

parabola. Find the length of
its side.

A. 

B. 

C. 

D. 

y2 = 4ax

4a√3

2a√3

16a√3

8a√3

https://dl.doubtnut.com/l/_zTVFd6Qhs4Ie
https://dl.doubtnut.com/l/_mXbCK7to9SBq


Answer: D

Watch Video Solution

7. The coordinates of the focus of the parabola

A. (0, 2)

B. (2, 1)

C. (1, 2)

D. (-2, -1)

x2 − 4x − 8y − 4 = 0

https://dl.doubtnut.com/l/_mXbCK7to9SBq
https://dl.doubtnut.com/l/_XDDPHIF64Mhb


Answer: B

Watch Video Solution

8. If 
 be the ordinates of a vertices of

the triangle
 inscribed in a parabola 

then show that the area of the triangle is

A. 

B. 

C. 

y1, y2, y3

y3 = 4ax,

|(y1 − y2)(y2 − y3)(y3 − y1)|.
1

8a

|(y1 − y2)(y2 − y3)(y3 − y1)|
1

2a

|(y1 − y2)(y2 − y3)(y3 − y1)|
1

4a

|(y1 − y2)(y2 − y3)(y3 − y1)|
1

8a

https://dl.doubtnut.com/l/_XDDPHIF64Mhb
https://dl.doubtnut.com/l/_d5etpBqsQWxD


D. none of these

Answer: C

Watch Video Solution

9. The are of the triangel inscribed in the

parabola  the ordinates of whose

vertices are 1, 2 and 4 square units, is

A. 

B. 

C. 

y2 = 4x

7
2

5

2

3

2

https://dl.doubtnut.com/l/_d5etpBqsQWxD
https://dl.doubtnut.com/l/_Cgyqrz3ftYcA


D. 

Answer: D

Watch Video Solution

3

4

10. The length of the latusrectum of the parbola

whose focus is (3, 3) and directrix 3x-4y-2=0, is

A. 2

B. 1

C. 4

https://dl.doubtnut.com/l/_Cgyqrz3ftYcA
https://dl.doubtnut.com/l/_EWAzPio510GY


D. none of these

Answer: A

Watch Video Solution

11. The length of the latus rectum of the

parabola whose focus is


 and directrix is


 is 
 (b) 


(d) 

A. 

( sin 2α, − cos 2α)
u2

2g

u2

2g

y =
u2

2g
cos2 α

u2

g
cos2 2α

u2

g
cos2 2α

2u2

g

cos2 α
2u2

g

cos2 α
u2

g

https://dl.doubtnut.com/l/_EWAzPio510GY
https://dl.doubtnut.com/l/_Wxzx29j8J7NR


B. 

C. 

D. 

Answer: D

Watch Video Solution

cos 2α
u2

g

cos 2α
2u2

g

cos2 α
2u2

g

12. PQ is a double ordinate of a parabola


 Find the locus of its points of

trisection.

A. 

y2 = 4ax.

y2 = ax

https://dl.doubtnut.com/l/_Wxzx29j8J7NR
https://dl.doubtnut.com/l/_cJZtHxNGDljK


B. 

C. 

D. 

Answer: B

Watch Video Solution

9y2 = 4ax

9y2 = ax

y2 = 9ax

13. If the segment intercepted by the parabola


 with the line 

subtends a right angle at the vertex, then

y = 4ax lx + my + n = 0

https://dl.doubtnut.com/l/_cJZtHxNGDljK
https://dl.doubtnut.com/l/_wK74j65bg8KL



 (b) 


(d) 

A. 4 al+ n =0

B. 4al+4am +n =0

C. 4am+n=0

D. al+n=0

Answer: A

Watch Video Solution

4al + n = 0 4al + 4am + n = 0

4am + n = 0 al + n = 0

https://dl.doubtnut.com/l/_wK74j65bg8KL


14. The length of a focal chord of the parabola

 making an angle  with the axis of the

parabola is is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax θ

(a > 0) :

4acosec2θ

4a cos θcosec2θ

4a cot θcosec2θ

2a  cosec2θ

https://dl.doubtnut.com/l/_z12DybxgEHjw
https://dl.doubtnut.com/l/_Vx3KQjcSXx1G


15. Show that the parametric point

 represents a parabola. Show

that its vertex is (2,1).

A. a parabola with focus at (2, 1)

B. a parabola with vertex at (2, 1)

C. an ellipse with centre at (2, 1)

D. none of these

Answer: B

Watch Video Solution

(2 + t2, 2t + 1)

https://dl.doubtnut.com/l/_Vx3KQjcSXx1G
https://dl.doubtnut.com/l/_ElTPleJUnscE


16. The ratio in which the line segment joining

the point (4, -6) and (3, 1) si divided by the

parabola  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax

: 1
−20 ± √155

11

: 1
−2 ± √155

11

−20 ± 2√155: 11

−20 ± √155: 11

https://dl.doubtnut.com/l/_ElTPleJUnscE
https://dl.doubtnut.com/l/_SRqJSY2KiV3l


17. If (a, b) is the midpoint of a chord passing

through the vertex of the parabola ,

then (A)  (B)  (C)  (D)

A. a=ab

B. 2a=b

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4x

a = 2b 2a = b a2 = 2b

2a = b2

a2 = ab

2a = b2

https://dl.doubtnut.com/l/_SRqJSY2KiV3l


18. If the vertex and focus of a parabola are (3, 3)

and (-3, 3) resepectively, then its equation, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + 6x − 24y + 63 = 0

x2 − 6x + 24y − 63 = 0

y2 − 6y + 24x − 63 = 0

y2 + 6y − 24x + 63 = 0

https://dl.doubtnut.com/l/_SRqJSY2KiV3l
https://dl.doubtnut.com/l/_msQmXdsdc2Kp
https://dl.doubtnut.com/l/_vbvIOz4uVi3x


19. The locus of the middle points of the focal

chord of the parabola , is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

y2 = 4ax

y2 = a(x − a)

y2 = 2a(x − a)

y2 = 4a(x − a)

https://dl.doubtnut.com/l/_vbvIOz4uVi3x


20. If  are the ordinates of two points P

and Q on the parabola and  is the ordinate of

the intersection of tangents at P and Q, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y1, y2

y3

y1, y2, y3  are in AP

y1, y3, y2  are in AP

y1, y2, y3  are in GP

y1, y3, y2  are in GP

https://dl.doubtnut.com/l/_n6yl1GhZY7fL
https://dl.doubtnut.com/l/_2C9zev6OHKyL


21. If the line touches the parabola 

, then the coordinates of the

point of contact are:

A. (1, 1)

B. (1/2, 1/2)

C. (0, 1)

D. (1, 0)

Answer: C

Watch Video Solution

x + y = 1

y2 − y + x = 0

https://dl.doubtnut.com/l/_2C9zev6OHKyL
https://dl.doubtnut.com/l/_WtCH5tnmlPnY


22. The locus of foot of the perpendiculars

drawn from the vertex on a variable tangent to

the parabola  is

A. the directrix

B. tangent at the vertex

C. x = a

D. none of these

Answer: B

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_WtCH5tnmlPnY
https://dl.doubtnut.com/l/_ptxIw91FiXkw


23. The equation to the line touching both the

parabolas  and  is

A. x+2y+4=0

B. 2x+y-4=0

C. x-2y-4=0

D. x-2y+4=0

Answer: D

Watch Video Solution

y2 = 4x x2 = − 32y

https://dl.doubtnut.com/l/_ptxIw91FiXkw


24. If  is the parameter for one end of a focal

chord of the parabola  then its

length is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

t

y2 = 4ax,

a(t + )
2

1

t

a(t − )
21

t

a(t + )
1

t

a(t − )
1

t

https://dl.doubtnut.com/l/_bfNDWyKdAAu2
https://dl.doubtnut.com/l/_vaNh9WSJ4i03


25. Find the equation of normal to the parabola

at point 

A. 1/t

B. t

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4ax (at2, 2at)

−t

−
1

t

https://dl.doubtnut.com/l/_vaNh9WSJ4i03


26. The normal at the point  meets

the parabola  again at 

such that the lines joining the origin to P and Q

are at right angle. Then (A)  (B)  (C)

 (D) 

A. 

B. 

C. 

D. 

Answer: A

P(ap2, 2ap)

y2 = 4ax Q(aq2, 2aq)

p2 = 2 q2 = 2

p = 2q q = 2p

p2 + pq + 2 = 0

p2 − pq + 2 = 0

q2 + pq + 2 = 0

p2 + pq + 1 = 0

https://dl.doubtnut.com/l/_9tis7ekaoKLi


Watch Video Solution

27. The length of the subnormal to the parabola

 at any point is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 4ax

a√2

2√2a

a

√2

2a

https://dl.doubtnut.com/l/_9tis7ekaoKLi
https://dl.doubtnut.com/l/_xXSPPMCNu48T


28. The two parabolas 

intersect at a point P, whose abscissas is not

zero, such that

A. they both touch each other at P

B. they cut at right angles at P

C. the tangents to each curvs at P make

complementary angles with the x-axis

D. none of these

Answer: C

y2 = 4x  and x2 = 4y

https://dl.doubtnut.com/l/_xXSPPMCNu48T
https://dl.doubtnut.com/l/_HuXexscn3svV


Watch Video Solution

29. A set of parallel chords of the parabola


 have their midpoint on
 any straight

line through the vertex
 any straight line

through the focus
a straight line parallel to the

axis
another parabola

A. any straight line through the vertex

B. any straight line through the focus

C. a straight line parallel to the axis

D. another parabola

y2 = 4ax

https://dl.doubtnut.com/l/_HuXexscn3svV
https://dl.doubtnut.com/l/_VJvTA2P64u1H


Answer: C

Watch Video Solution

30. Find the point on the curve 
 the

tangent at which makes an angle of 45^0 with

the x-axis.

A. (a/2, a/4)

B. (-a/2, a/4)

C. (a/4, a/2)

D. (-a/4, a/2)

y2 = ax

https://dl.doubtnut.com/l/_VJvTA2P64u1H
https://dl.doubtnut.com/l/_ZkDUUACSu15m


Answer: C

Watch Video Solution

31. The line  is a normal to the

parabola  is =

A. -16

B. -8

C. -24

D. 24

2x + y + λ = 0

y2 = − 8x, λ

https://dl.doubtnut.com/l/_ZkDUUACSu15m
https://dl.doubtnut.com/l/_cfnlbuVuCTHx


Answer: D

Watch Video Solution

32. Find the angle at which the parabolas


and 
intersect.

A. 

B. 

C. 

D. 

y2 = 4x x2 = 32y

tan− 1(3/5)

tan− 2(4/5)

π

π/2

https://dl.doubtnut.com/l/_cfnlbuVuCTHx
https://dl.doubtnut.com/l/_NnDsOBQ1IuZB


Answer: A

Watch Video Solution

33. The normal at  on  meets

the curve again at . Then the value of 

A. 1

B. 3

C. -1

D. -3

(a, 2a) y2 = 4ax

(at2, 2at)

t =

https://dl.doubtnut.com/l/_NnDsOBQ1IuZB
https://dl.doubtnut.com/l/_bYlkb9Y9AEsF


Answer: D

Watch Video Solution

34. If a chord which is normal to the parabola at

one end subtend a right angle at the vertex,

then angle to the axis is

A. 1

B. 3

C. -1

D. -3

https://dl.doubtnut.com/l/_bYlkb9Y9AEsF
https://dl.doubtnut.com/l/_hoWa0qFeWqY6


Answer: C

Watch Video Solution

35. Find the equations of the normals at the

ends of the latus- rectum of the parabola

 Also prove that they are at right

angles on the axis of the parabola.

A. 

B. 

C. 

y2 = 4ax.

x2 − y2 − 6ax + 9a2 = 0

x2 − y2 − 6ax − 6an + 9a2 = 0

x2 − y2 − 6xy + 9a2 = 0

https://dl.doubtnut.com/l/_hoWa0qFeWqY6
https://dl.doubtnut.com/l/_CA1AUTXWxusS


D. none of these

Answer: A

Watch Video Solution

36. The normal at the point  meets

the parabola  again at 

such that the lines joining the origin to P and Q

are at right angle. Then (A)  (B)  (C)

 (D) 

A. 

P(ap2, 2ap)

y2 = 4ax Q(aq2, 2aq)

p2 = 2 q2 = 2

p = 2q q = 2p

p2 = 2

https://dl.doubtnut.com/l/_CA1AUTXWxusS
https://dl.doubtnut.com/l/_Ky44uItq4jRi


B. 

C. 

D. 

Answer: A

Watch Video Solution

q2 = 2

p = 2q

q = 2p

37. If the normals at points 
meet on the

parabola, then
 
 (b) 


(d) none of these

A. 

t1andt2

t1t2 = 1 t2 = − t1 −
2

t1

t1t2 = 2

t1t2 = − 1

https://dl.doubtnut.com/l/_Ky44uItq4jRi
https://dl.doubtnut.com/l/_T5pabwHkkORN


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

t2 = − t1 −
2

t1

t1t2 = 2

38. If the normals at two points P and Q of a

parabola  intersect at a third point R

on the curve, then the product of ordinates of P

and Q is (A)  (B)  (C)  (D) 

y2 = 4ax

4a2 2a2 −4a2 8a2

https://dl.doubtnut.com/l/_T5pabwHkkORN
https://dl.doubtnut.com/l/_IlsFeoMjwQiX


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4a2

2a2

−4a2

8a2

39. The angle between the tangents drawn from

the origin to the paraboala , isy2 = 4a(x − a)

https://dl.doubtnut.com/l/_IlsFeoMjwQiX
https://dl.doubtnut.com/l/_0N69QTS6YmVU


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

90∘

30∘

tan− 1(1/2)

45∘

40. The angle between the tangents drawn from

the point (-a, 2a) to =4ax isy2

https://dl.doubtnut.com/l/_0N69QTS6YmVU
https://dl.doubtnut.com/l/_noU2ShoRtGHs


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π/4

π/2

π/3

π/6

41. The angle between the tangents to the

parabola 
 at the points where ity2 = 4ax

https://dl.doubtnut.com/l/_noU2ShoRtGHs
https://dl.doubtnut.com/l/_gE47f2LBaJA2


intersects with the line 
 is
 
 (b) 


(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x − y − a = 0
π

3
π

4
π

π

2

π/3

π/4

π/6

π/2

https://dl.doubtnut.com/l/_gE47f2LBaJA2


42. P(-3, 2) is one end of focal chord PQ of the

parabola . Then the slope of

the normal at Q is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 + 4x + 4y = 0

−1/2

2

1/2

−2

https://dl.doubtnut.com/l/_FlI6VESAYk9c
https://dl.doubtnut.com/l/_NjFV8R4m4PNx


43. If  is a normal to the parabola 

, then the value of c, is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = my + c

x2 = 4ay

−2am − am3

2am + am3

− −
2a

m

a

m3

+
2a

m

a

m3

https://dl.doubtnut.com/l/_NjFV8R4m4PNx


44. Find the equations of the tangent and the

normal to the given curve at the indicated point

: 

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y2 = 4ax  at ( , )
a

m2

2a

m

y = mx − 2am − am3

m3y = m2x − 2am2 − a

m3y = 2am2 − m2x + a

https://dl.doubtnut.com/l/_svu5Lj4aLzN5


45. f the normal at the point  meets

the parabola  aguin at 

then

A. -1

B. -2

C. -3

D. -4

Answer: D

Watch Video Solution

P (at1, 2at1)

y2 = 4ax (at2, 2at2),

https://dl.doubtnut.com/l/_svu5Lj4aLzN5
https://dl.doubtnut.com/l/_d2n9R81KlrLJ


46. If the vertex of the parabola

 lies on x-axis, then the value of

c, is

A. -16

B. -4

C. 4

D. 16

Answer: D

Watch Video Solution

y = x2 − 8x + c

https://dl.doubtnut.com/l/_d2n9R81KlrLJ
https://dl.doubtnut.com/l/_oULshmP3rXIr


47. If the chord  subtends a right

angle at the vertex of the parabola ,

thenthe value of c is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = mx + c

y2 = 4ax

−4am

4am

−2am

2am

https://dl.doubtnut.com/l/_oULshmP3rXIr
https://dl.doubtnut.com/l/_HBFvsUYBK2Of


48. The equation of the tangent at the vertex of

the parabola  is

A. x=-2

B. x=2

C. x=a

D. x=-a

Answer: C

Watch Video Solution

x2 + 4x + 2y = 0,

https://dl.doubtnut.com/l/_HBFvsUYBK2Of
https://dl.doubtnut.com/l/_m4IvQ4OsqU1m
https://dl.doubtnut.com/l/_NV5j8m1uqTS4


49. The locus of the point of intersection of the

perpendicular tangents to the parabola

 is .

A. y=a

B. y=-a

C. x=a

D. x=-a

Answer: B

Watch Video Solution

x2 = 4ay

https://dl.doubtnut.com/l/_NV5j8m1uqTS4
https://dl.doubtnut.com/l/_1RxvKVqmq8OI


50. If 
 is a tangent to the parabola 


 then find its distance from the

parallel normal.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = 2x + 3

y2 = 24x,

5√5

10√5

15√5

3√5

https://dl.doubtnut.com/l/_1RxvKVqmq8OI
https://dl.doubtnut.com/l/_JiLCERj4CJUG


51. If the normal at(1, 2) on the parabola 

meets the parabola again at the point 

then the value of t, is

A. 1

B. 3

C. -3

D. -1

Answer: C

Watch Video Solution

y2 = 4x

(t2, 2t)

https://dl.doubtnut.com/l/_JiLCERj4CJUG
https://dl.doubtnut.com/l/_wWnIhPfyirAv


52. The normals at three points  of the

parabola  meet in  The centroid

of triangle  lies on x=0 y=0 x=-a

y=a`

A. x = 0

B. y = 0

C. x = -a

D. y = a

Answer: B

Watch Video Solution

P , Q, R

y2 = 4ax (h, k)

PQR (A) (B) (C)

(D)

https://dl.doubtnut.com/l/_wWnIhPfyirAv


53. If the point P(4, -2) is the one end of the focal

chord PQ of the parabola  then the

slope of the tangent at Q, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = x,

−1/4

1/4

4

−4

https://dl.doubtnut.com/l/_pcxZP3XBPU7U
https://dl.doubtnut.com/l/_rjr81oVbNQxB


54. If 
 is a focal chord of the parabola 


 such that 
 , then the length of 


is
6 (b) 4
(c) 3 (d)
none of these

A. 6

B. 4

C. 3

D. none of these

Answer: C

Watch Video Solution

PSQ

y2 = 8x SP = 6

SQ

https://dl.doubtnut.com/l/_rjr81oVbNQxB
https://dl.doubtnut.com/l/_6bBujZrc0fdp


55. The angle between the normals to the

parabola  at points (6, 12) and (6, -12), is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 = 24x

30∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_6bBujZrc0fdp


56. Find the equation of the common tangent of


and 

A. x+y+a=0

B. x+y-a=0

C. x-y+a=0

D. x-y-a=0

Answer: A

Watch Video Solution

y2 = 4ax x2 = 4ay.

https://dl.doubtnut.com/l/_OVUTo5Shg3rw


57. The equation of the common tangent

touching the circle  and the

parabola  above he x-axis is

A. 

B. 

C. 

D. sqrt3y=-3x-1`

Answer: C

Watch Video Solution

(x − 3)2 + y2 = 0

y2 = 4x

√3y = 3x + 1

√3y = − x − 3

√3y = (x + 3)

https://dl.doubtnut.com/l/_XKrVaXp8Qh0T
https://dl.doubtnut.com/l/_V34pbb7pyTvr


58. The length of the subtangent to the

parabola  at the point whose abscissa

is 4, is

A. 2

B. 4

C. 8

D. none of these

Answer: C

Watch Video Solution

y2 = 16x

https://dl.doubtnut.com/l/_V34pbb7pyTvr
https://dl.doubtnut.com/l/_6US0JDdYQXb6


59. if P is a point on parabola  such

that subtangents and subnormals at P are

equal, then the coordinates of P are:

A. (a, 2a) or (a, -2a)

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

y2 = 4ax

(2a, 2√2a) or (2a, − 2√2a)

(4a, − 4a) or (4a, 4a)

https://dl.doubtnut.com/l/_6US0JDdYQXb6
https://dl.doubtnut.com/l/_8lyGZQDBUtFg


60. The normal to the parabola  at the

point (2, 4) meets the parabola again at the

point

A. (-18, -12)

B. (-28, 12)

C. (18, 12)

D. (18, -12)

Answer: D

Watch Video Solution

y2 = 8ax

https://dl.doubtnut.com/l/_8lyGZQDBUtFg
https://dl.doubtnut.com/l/_Wqyx1mtBrIgE


61. The graph represented by

 is

A. a protion of a parabola

B. a part of a hyperbola

C. a part of a sing graph

D. a part of a hyperbola

Answer: B

Watch Video Solution

x = sin2 t, y = 2 cos t

https://dl.doubtnut.com/l/_Wqyx1mtBrIgE


62. The subtangent, ordinate and subnormal to

the parabola  are in

A. AP

B. GP

C. HP

D. none of these

Answer: B

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_HJUC9JyioK94


63. f the normal at the point  meets

the parabola  aguin at 

then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P (at1, 2at1)

y2 = 4ax (at2, 2at2),

t1t2 = − 1

t1t2 = 1

t1t2 = 2

t2t2 = − 2

https://dl.doubtnut.com/l/_zfRVuCZymIzT
https://dl.doubtnut.com/l/_dpI2rPd9Ohx2


64. The equation of the parabola whose vertex is

at(2, -1) and focus at(2, -3), is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + 4x − 8y − 12 = 0

x2 − 4x + 8y + 12 = 0

x2 + 8y = 12

x2 − 4x + 12 = 0

https://dl.doubtnut.com/l/_dpI2rPd9Ohx2


65. The ends of a line segment are

, R is a point on the line

segment PQ such that .If R is an

interior point of the parabola  then

A. (0, 1)

B. (-3/5, 1)

C. (1/2, 3/5)

D. none of these

Answer: A

Watch Video Solution

P (1, 3) and Q(1, 1)

PR :QR = 1: λ

y2 = 4x

https://dl.doubtnut.com/l/_AKpCP5jeTrIf


66. The vertex of the parabola

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 + 6x − 2y + 13 = 0

(1, − 1)

( − 2, 1)

(3/2, 1)

( − 7/2, 1)

https://dl.doubtnut.com/l/_AKpCP5jeTrIf
https://dl.doubtnut.com/l/_Z5dgf5sJPztP
https://dl.doubtnut.com/l/_237In5WA5lP2


67. The Cartesian equation of the directrix of the

parabola whose parametrix equations are

, is

A. y = 2

B. y = 1

C. y = -1

D. y = -2

Answer: B

Watch Video Solution

x = 2t + 1, y = t2 + 2

https://dl.doubtnut.com/l/_237In5WA5lP2
https://dl.doubtnut.com/l/_BesoM4CJ0NsH


68. If the vertex of a parabola is (0, 2) and the

extremities of latusrectum are (-6, 4) and (6, 4)

then, its equation, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − 4y + 8 = 0

x2 + 4y − 8 = 0

x2 − 8y + 16 = 0

x2 + 8y − 16 = 0

https://dl.doubtnut.com/l/_BesoM4CJ0NsH
https://dl.doubtnut.com/l/_hBNDhipE5IOA


69. A line L passing through the focus of the

parabola  intersects the

two distinct point. If m be the slope of the line I,,

then

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

(y − 2)2 = 4(x + 1)

min ( − ∞, − 1) ∪ (1, ∞)

m ∈ ( − ∞, 0) ∪ (0, ∞)

min ( − ∞, 0) ∪ (0, ∞)

https://dl.doubtnut.com/l/_hBNDhipE5IOA


70. Let 
 be a parabola, having its axis

parallel to the y-axis, which is touched
 by the

line 
 at 
 Then,


(b) 
 
 (d) 

A. 

B. 

C. 

D. 

Answer: B

y = f(x)

y = x x = 1. 2f(0) = 1 − f ′ (0)

f(0) + f ′ (0) + f 0 = 1 f ′ (1) = 1

f ′ (0) = f ′ (1)

f' (0) = ' (1)

2f(0) = 1 − f' (0)

f' (1) = 1

f(0) + f' (0) + f' (0) = 1

https://dl.doubtnut.com/l/_meovHWZkCL51


Watch Video Solution

71. If two tangents drawn from the point 

to the parabola 
are such that the slope

of one tangent is double of the other, then

prove that 

A. 

B. 

C. 

D. none of these

(α, β)

y2 = 4x

α = β2.
2

9

9y = 2x2

9x = 2y2

2x = 9y2

https://dl.doubtnut.com/l/_meovHWZkCL51
https://dl.doubtnut.com/l/_0lIV1HJbvtQY


Answer: B

Watch Video Solution

72. The angle between the tangents drawn form

the point (3, 4) to the parabola

, is

A. 

B. 

C. 

D. none of these

y2 − 2y + 4x = 0

tan− 1(8√5/7)

tan− 1(12/√5)

tan− 1(√5/7)

https://dl.doubtnut.com/l/_0lIV1HJbvtQY
https://dl.doubtnut.com/l/_nWxbgzhmrhaW


Answer: A

Watch Video Solution

73. set of values of m for which a chord of slope

m of the circle  touches parabola 

, may lie in intervel

A. 

B. 

C. 

x2 + y2 = 4

y2 = 4x

⎛
⎜
⎝

− ∞, −√
⎞
⎟
⎠

∪
⎛

⎝
√ , ∞

⎞

⎠

√2/7

2

√2 − 1
2

( − ∞, − 1) ∪ (1, ∞)

( − 1, 1)

https://dl.doubtnut.com/l/_nWxbgzhmrhaW
https://dl.doubtnut.com/l/_kEyTkMKFmg0A


D. 

Answer: A

Watch Video Solution

R

74. The mid-point of the line joining the

common points of the line

 is

A. (3, 2)

B. (5, 6)

C. (4, -1)

2x − 3y + 8 = 0  and y2 = 8x,

https://dl.doubtnut.com/l/_kEyTkMKFmg0A
https://dl.doubtnut.com/l/_AbiyKNu3EHeZ


D. (2, -3)

Answer: B

Watch Video Solution

75. Tangents PQ and PR are draqn to the

parabola 

respectively such that  the locus

of point P, is

A. x+10=0

y2 = 20(x + 5)  and y2 = 60(x + 15)

∠RPQ = ,
π

2

https://dl.doubtnut.com/l/_AbiyKNu3EHeZ
https://dl.doubtnut.com/l/_LT2ZGVMtX4vi


B. x+30=0

C. x+40=0

D. none of these

Answer: D

Watch Video Solution

76.  is the normal at P to the parabola 

 being on the axis.  is produced

outwards to disothat  ; show that the

locus of Q is a parabola.

PC

y2 = 4ax, C CP

PQ = CP

https://dl.doubtnut.com/l/_LT2ZGVMtX4vi
https://dl.doubtnut.com/l/_Xl8ij33SRFdF


A. ellipse

B. parabola

C. hyperbola

D. ciacle

Answer: B

Watch Video Solution

77. From a fixed point A three normals are drawn

to the parabola  at the points P, Q and

R. Two circles  are drawn on AP and

y2 = 4ax

C1  and C2

https://dl.doubtnut.com/l/_Xl8ij33SRFdF
https://dl.doubtnut.com/l/_pnkDkrQlO4ld


AQ as diameter. If slope of the common chord of

the circles  be  and the slope of

the tangent to teh parabola at R be , then 

, is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C1  and C2 m1

m2

m1 × m2

1

2

2

−
1

2

−2

https://dl.doubtnut.com/l/_pnkDkrQlO4ld


78. The tangent to the parabola 
 has

been drawn so that the abscissa 
of the point

of tangency belongs to the interval [1,2]. Find 

for which the triangle bounded by the tangent,

the axis of ordinates,
 and the straight line


has the greatest area.

A. 0

B. 1

C. 2

D. 

y = x2

x0

x0

y = x02

3

2

https://dl.doubtnut.com/l/_GYOariVNCpOb


Answer: C

Watch Video Solution

79. A circle drawn on any focal AB of the

parabola  as diameter cute the

parabola again at C and D. If the parameters of

the points A, B, C, D be 

respectively, then the value of , is

A. -1

B. 2

y2 = 4ax

t1, t2, t3  and t4

t3, t4

https://dl.doubtnut.com/l/_GYOariVNCpOb
https://dl.doubtnut.com/l/_vM0N4dDwKTDI


C. 3

D. none of these

Answer: C

Watch Video Solution

80. Let F be the focus of the parabola 

and M be the foot of perpendicular form point

 on the tangent at the vertex. If N is

a point on the tangent at P, then 

A. 

y2 = 4ax

P(at2, 2at)

equals
MN

FN

t2

t2 + 1

https://dl.doubtnut.com/l/_vM0N4dDwKTDI
https://dl.doubtnut.com/l/_D5KGFpsYIkyn


B. 

C. 1

D. none of these

Answer: A

Watch Video Solution

t2 + 1

t2

81. The focus of a parabola is (0, 0) and vertex (1,

1). If two mutually perpendicular tangents can

be drawn to a parabola from the circle

,then(x − 2)2 + (y − 3)2 = r2

https://dl.doubtnut.com/l/_D5KGFpsYIkyn
https://dl.doubtnut.com/l/_9e0WfaAATsba


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

|r| >
1

√2

r >
1

√2

r =
1

√2

|r| <
1

√2

82. The point P on the parabola  for

which | PR-PQ | is maximum, where R(-a, 0) and Q

(0, a) are two points,

y2 = 4ax

https://dl.doubtnut.com/l/_9e0WfaAATsba
https://dl.doubtnut.com/l/_4r1aAs8N9sdu


Chapter Test

A. (a, 2a)

B. (a, -2a)

C. (4a, 4a)

D. (4a, -4a)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_4r1aAs8N9sdu


1. If  is a tangent to the curve 

, then k is equal to

A. 4

B. 43467

C. -4

D. 

Answer: C

Watch Video Solution

y = 2x + k

x2 = 4y

−1/2

https://dl.doubtnut.com/l/_8K1lfHF5D82d


2. The normal drawn at a point  of

the parabola meets on the point 

 then

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

(at2
1, 2at1)

y2 = 4ax

(ar2
2, 2at2)

t1 = 2t2

t2
1 = 2t2

t1t2 = 1

https://dl.doubtnut.com/l/_oVKQNtPwKQOh
https://dl.doubtnut.com/l/_GxhMt8iYJry7


3. The mid-point of the chord  of

the parabola  is

A. (5/2, -1)

B. (-1, 5/2)

C. (3/2, -1)

D. none of these

Answer: A

Watch Video Solution

2x + y − 4 = 0

y2 = 4x

https://dl.doubtnut.com/l/_GxhMt8iYJry7


4. The two ends of latusrectum of a parabola are

the points (3, 6) and (-5, 6). The focus, is

A. (1, 6)

B. (-1, 6)

C. (1, -6)

D. (-1, -6)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_SeSxFxaVPLf7


5. Prove that the locus of the middle points of all

chords of the parabola  passing

through the vertex is the parabola .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

y2 = 2ax

y2 = 8x

y2 = 2x

x2 + 4y2 = 16

x2 = 2y

https://dl.doubtnut.com/l/_IWhZetROdjCt
https://dl.doubtnut.com/l/_5f0rXhK4VPyh


6. The focus of the parabola

 is

A. (4, 7/2)

B. (4, 9/2)

C. (9/2, 4)

D. (1, 0)

Answer: B

Watch Video Solution

x2 − 8x + 2y + 7 = 0

https://dl.doubtnut.com/l/_5f0rXhK4VPyh


7. The point of contact of the line x-2y-1=0 with

the parabola , is

A. (5, 2)

B. (5, -2)

C. (2, 5)

D. (5, 3)

Answer: A

Watch Video Solution

y2 = 2(x − 3)

https://dl.doubtnut.com/l/_J85cJWG3NrID


8. Find the number of distinct normals that can

be drawn from 
 to the parabola 

A. 3

B. 2

C. 1

D. 4

Answer: A

Watch Video Solution

( − 2, 1)

y2 − 4x − 2y − 3 = 0

https://dl.doubtnut.com/l/_UDmwkvbODLgx
https://dl.doubtnut.com/l/_GPNnwiz142fB


9. At what point on the parabola 
 the

normal makes equal angle with the axes?


(b) 
(d) 
(d) 

A. (4, 4)

B. (9, 6)

C. (4, -4)

D. (1, -2)

Answer: D

Watch Video Solution

y2 = 4x

(4, 4)

(9, 6) (4, − 4) (1, ± 2)

https://dl.doubtnut.com/l/_GPNnwiz142fB
https://dl.doubtnut.com/l/_WaJdEJaDjiM7


10. Three normals to the parabola  are

drawn through a point  then C=

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

y2 = x

(C, O)

c = 1/4

c = 1/2

c < 1/2

https://dl.doubtnut.com/l/_WaJdEJaDjiM7


11. The normal chord of a parabola  at

the point  subtends a right angle at

the

A. focus

B. vertex

C. end of the latusrectum

D. none of these

Answer: A

Watch Video Solution

y2 = 4ax

P (x1, x1)

https://dl.doubtnut.com/l/_dCWDJzm5OeM7
https://dl.doubtnut.com/l/_GQCH2FFvrqbu


12. AB, AC are tangents to a parabola

 are the lengths of the

perpendiculars from A, B, C on any tangents to

the curve, then  are in:

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: B

Watch Video Solution

y2 = 4ax; p1, p2, p3

p2, p1, p3

https://dl.doubtnut.com/l/_GQCH2FFvrqbu


13. The circles on the focal radii of a parabola as

diameter touch:
 A) the tangent at the vertex
 B)

the axis
C) the directrix
D) latus rectum

A. the tangent at the vertex

B. the axis

C. the directrix

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_GQCH2FFvrqbu
https://dl.doubtnut.com/l/_trbRBJRnZ3G1


14. If the normals from any point to the parabola


 cut the line 
 at points whose

ordinates are in AP, then prove that the slopes

of tangents at the co-normal
points are in GP.

A. A.P.

B. G.P.

C. H.P.

D. none of these

Answer: B

W h Vid S l i

y2 = 4x x = 2

https://dl.doubtnut.com/l/_trbRBJRnZ3G1
https://dl.doubtnut.com/l/_FCnuddekVhRe


Watch Video Solution

15. Consider a circle with its centre lying on the

focus of the parabola,  such that it

touches the directrix of the parabola. Then a

point of intersection of the circle & the parabola

is:

A. 

B. 

C. 

D. 

y2 = 2px

(p/2, ± p)

(p, p/2)

( − p/2, p)

( − p/2, − p)

https://dl.doubtnut.com/l/_FCnuddekVhRe
https://dl.doubtnut.com/l/_73f4m3yPzbLw


Answer: A

Watch Video Solution

16. The equation of the tangent to the parabola

 which is perpendicular to the line 

, is

A. 9x+3y+2=0

B. 3x+y+2=0

C. 3x-y-1=0

D. 9x-3y+2-=0

y2 = 8x

x − 3y + 8 = 0

https://dl.doubtnut.com/l/_73f4m3yPzbLw
https://dl.doubtnut.com/l/_eC3NtKn5wpch


Answer: A

Watch Video Solution

17. the tangent drawn at any point  to the

parabola  meets the directrix at the

point  Then the angle which  subtends at

the focus is

A. 

B. 

C. 

P

y2 = 4ax

K. KP

30∘

45∘

60∘

https://dl.doubtnut.com/l/_eC3NtKn5wpch
https://dl.doubtnut.com/l/_4ahOHYbPODmB


D. 

Answer: D

Watch Video Solution

90∘

18. The tangent and normal at , for all real

positive , to the parabola  meet the

axis of the parabola in  and  respectively,

then the angle at which the tangent at  to the

parabola is inclined to the tangent at  to the

circle passing through the points and  is

P (t)

t y2 = 4ax

T G

P

P

P , T G

https://dl.doubtnut.com/l/_4ahOHYbPODmB
https://dl.doubtnut.com/l/_o0g2tUlBSMLr


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1(t2)

cot − 1)(t2)

tan− 1(t)

cot − 1(t)

19. The parabola  passes through the

point (2, -6), then the length of its latusrectum,

is

y2 = 4ax

https://dl.doubtnut.com/l/_o0g2tUlBSMLr
https://dl.doubtnut.com/l/_JwObiUIWSO8G


A. 18

B. 9

C. 6

D. 16

Answer: A

Watch Video Solution

20. A variable circle passes through the fixed

point (2, 0) and touches y-axis Then, the locus of

its centre, is

https://dl.doubtnut.com/l/_JwObiUIWSO8G
https://dl.doubtnut.com/l/_I1adSmN7bwEj


A. a parabola

B. a circle

C. an ellipse

D. a hyperbola

Answer: A

Watch Video Solution

21. The locus of the middle points of the focal

chords of the parabola,  is:y2 = 4x

https://dl.doubtnut.com/l/_I1adSmN7bwEj
https://dl.doubtnut.com/l/_X5t2QHHp4R6W


A. the axis

B. a focal chord

C. the directrix

D. the tangent at the vertex

Answer: C

Watch Video Solution

22. If the lsope of the focal chord of  is

2, then the length of the chord, is

y2 = 16x

https://dl.doubtnut.com/l/_X5t2QHHp4R6W
https://dl.doubtnut.com/l/_iAmnGiOBFf9b


A. 22

B. 24

C. 20

D. 18

Answer: C

Watch Video Solution

23. If x-2y-a=0 is a chord of the parabola

, then its langth, isy2 = 4ax

https://dl.doubtnut.com/l/_iAmnGiOBFf9b
https://dl.doubtnut.com/l/_UlN0noK7v34n


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4a√5

40a

20a

15a

24. Equation of normal to the parabola 

which passes through (3, 0), is

y2 = 4x

https://dl.doubtnut.com/l/_UlN0noK7v34n
https://dl.doubtnut.com/l/_iNAGeKbRhlbI


A. x+y=3

B. x+y+3=0

C. x-2y=3

D. none of these

Answer: A

Watch Video Solution

25. Find the length of normal chord which

subtends an angle of 
 at the vertex of the

parabola 

900

y2 = 4x.

https://dl.doubtnut.com/l/_iNAGeKbRhlbI
https://dl.doubtnut.com/l/_72IwDkPGHh2k


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6√3

3√3

2

1

26. At what point on the parabola 
 the

normal makes equal angle with the axes?


(b) 
(d) 
(d) 

y2 = 4x

(4, 4)

(9, 6) (4, − 4) (1, ± 2)

https://dl.doubtnut.com/l/_72IwDkPGHh2k
https://dl.doubtnut.com/l/_BgEi9IDpvowu


A. (4, 4)

B. (9, 0)

C. (4, -4)

D. (1, -2)

Answer: D

Watch Video Solution

27. The circles on the focal radii of a parabola as

diameter touch:
 A) the tangent at the vertex
 B)

the axis
C) the directrix
D) latus rectum

https://dl.doubtnut.com/l/_BgEi9IDpvowu
https://dl.doubtnut.com/l/_faAvFDmFcJMb


A. axis

B. directrix

C. tangent at the vertex

D. none of these

Answer: C

Watch Video Solution

28. Tangents are drawn at the ends of any focal

chord of the parabola . Then which ofy2 = 16x

https://dl.doubtnut.com/l/_faAvFDmFcJMb
https://dl.doubtnut.com/l/_LTgc5x6QKWnq


the following statements about the point of

intersection of tangents is true.

A. its abscissa is independent of the

extremities of the focal chord

B. its ordinate is independent of the

extremities of the focal chord

C. it is at a distance of 8 units from the

vertex of the parabola

D. It is at a distance of 16 units from the

focus of the parabola

https://dl.doubtnut.com/l/_LTgc5x6QKWnq


Answer: A

Watch Video Solution

29. The angle between the pair of tangents

drawn form (1, 3) to the parabola , is

A. 

B. 

C. 

D. 

y2 = 8x

tan− 1 2

tan− 1( )
1

2

tan− 1( )
1

3

tan− 1 3

https://dl.doubtnut.com/l/_LTgc5x6QKWnq
https://dl.doubtnut.com/l/_V8RlpHLSYcQ0


Answer: C

Watch Video Solution

30. A variable tangent to the parabola 

meets the parabola  P and Q. The

locus of the mid-point of PQ, is

A. 

B. 

C. 

D. 

y2 = 4ax

y2 = − 4ax

y2 = − 2ax

y2 = − ax

y2 = − ax
4
3

y2 = − 4ax

https://dl.doubtnut.com/l/_V8RlpHLSYcQ0
https://dl.doubtnut.com/l/_Z246UtqeJy0z


Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Z246UtqeJy0z

